AVer

www.aver.com

CAM570
Conference Camera

Quick Start Guide | RiEfERIEE
PEMEHTERE | 24v0-HAF
BE AlZ JIOIE | Guide Rapide
Guia rapida | PykoBoacTso
Panduan Memulai Cepat




[ T | PSPPI 1

i i TSRS 8
TR HH L e 15
BL R EE oottt R ARttt 22
E=L = 0 SRR 29
[ = U (o= 11 U SPPPPRR 36
ST o= L o SRR 43
PYCCKUM ...ttt ettt e e e e e et b bttt e e e e e s s bbb e e e e e e e e e anbaneeeaeeaaan 50



Federal Communications Commission Statement

NOTE: This equipment has been tested and found to comply with the limits for a Class A digital device,
pursuant to part 15 of the FCC Rules. These limits are designed to provide reasonable protection
against harmful interference when the equipment is operated in a commercial environment. This
equipment generates, uses, and can radiate radiofrequency energy and, if not installed and used in
accordance with the instruction manual, may cause harmful interference to radio communications.
Operation of this equipment in a residential area is likely to cause harmful interference in which case
the user will be required to correct the interference at his own expense.

FCC Caution: Any changes or modifications not expressly approved by the party responsible for
compliance could void the user's authority to operate this equipment.

This device complies with part 15 of the FCC Rules.

Operation is subject to the following two conditions:

(1) This device may not cause harmful interference, and

(2) this device must accept any interference received, including interference that may cause undesired
operation.

This Class A digital apparatus complies with Canadian ICES-003. Cet appareil numérique de la classe
A est conforme a la norme NMB-003 du Canada.

Warning
This is a class A product. In a domestic environment this product may cause radio interference in which
case the user may be required to take adequate measures.

Caution
Risk of explosion if battery is replaced by an incorrect type. Dispose of used batteries according to
the instructions.

PSTI Statement of Compliance
Please refer to the following website: https://www.aver.com/product-security-advisory

VCCI-A
COEEIF.ISRXA BBETT . COEBERAERBETHATIEERIEESISRITEAHYFET . C
DB EIZFEAENE AN REET DLIBERSNLHENHYFET .

(DHAUBRBOERT7—INIE AHURRBROERTH T2 TOAERAL TS,
FUSRBOERT—TILIEL MOESHBETIEATEZEA,


https://www.aver.com/product-security-advisory

=
0l DDl 2RE SZ0AH MESE SHCZ HgdEIIE ©2 JIJIZM 138 &30A
bS

At ASLICH

2t .
otz e "eRE LESAMIIXM UL HEELICH

e ArEXHHUH 2
0l Il SR (AZ) IXMIEEIDIIZA &
As 101 OHAH £= MEX= 0 B2 F2I6tAID] diet
(P28 LYSSAIIXM) O, JtE2e XS0A AtEcts XS
SHOZELILCH
R4
EN=]

HBRBUTE  FAEMARZESEAREERE -

EBEIRENLZEEN

- FREMFRIERREZENE -

- FEREEMBNENREEREREY T - ERENREERELWE - HEORBENHSE -
- IRRREAEREN - FRERY - ERREBRUETHRRELS  BULEHAREE)
- AOURAMEEN -

- AOURAARREE : @t - R (K ) WARE (RiK) B -

- AU EMBEER KRS -

- BZEREEMIG IR -

DISCLAIMER

No warranty or representation, either expressed or implied, is made with respect to the contents of this
documentation, its quality, performance, merchantability, or fitness for a particular purpose. Information
presented in this documentation has been carefully checked for reliability; however, no responsibility is
assumed for inaccuracies. The information contained in this documentation is subject to change without
notice. In no event will AVer Information Inc. be liable for direct, indirect, special, incidental, or
consequential damages arising out of the use or inability to use this product or documentation, even if
advised of the possibility of such damages.

TRADEMARKS
“AVer” is a trademark owned by AVer Information Inc. Other trademarks used herein for description
purpose only belong to each of their companies.

COPYRIGHT

©2025 AVer Information Inc. All rights reserved. | March 11, 2025

All rights of this object belong to AVer Information Inc. Reproduced or transmitted in any form or by any
means without the prior written permission of AVer Information Inc. is prohibited. All information or
specifications are subject to change without prior notice.



More Help

For FAQs, technical support, software and user manual download, please visit:

Non-USA
Download Center: https://www.aver.com/download-center
Technical Support: https://www.aver.com/technical-support

USA
Download Center: https://www.averusa.com/business/support

Technical Support: https://averusa.force.com/support/s/contactsupport

Contact Information

Headquarters USA Branch Office Europe Branch Office
AVer Information Inc. AVer Information Inc., Americas AVer Information Europe B.V.
8F, No.157, Da-An Rd., 44061 Nobel Drive, Fremont, CA  Westblaak 134, 3012 KM,
Tucheng Dist., New Taipei City 94538, USA Rotterdam, The Netherlands
23673, Taiwan Tel: +1 (408) 263 3828 Tel: +31 (0) 10 7600 550
Tel: +886 (2) 2269 8535 Toll-free: +1 (877) 528 7824

Japan Branch Office Vietnam Branch Office Korea Office

TIN—- AT A—a k& Cong ty TNHH AVer Information B2 ol QAIEMHOIE (F)
#t (Viét Nam) NEA S22 MS24=2 92
T160-0023 AAERAFHBER  Tang 5, 596 Nguyén Dinh Chiéu, (AI22 1D},

T 3-2-26 LIEHBEIL 7 P.3, Quan 3, Thanh phd HS Chi 22O AIOME E) 1831,
e Minh 700000, Viét Nam 1832 &

Tel: +81 (0) 3 5989 0290 Tel: +84 (0) 28 22 539 211 Tel: +82 (0) 2 722 8535

BEHYR—4—(BEE H® tro ky thuat: +84 (0) 90 70 080
EEM#): +81 (0) 120 008 382 77


https://www.aver.com/download-center
https://www.aver.com/technical-support
https://www.averusa.com/business/support
https://averusa.force.com/support/s/contactsupport

English

Package Contents

] Remote Control / Power Adapter USB 3.0 Type-B to
Camera Unit S
AAA Batteries & Power Plug* Type-A Cable (3m)

MInIBINS o iRt BINS HDMI Cable (3m Wall Mount Kit Screws for Mount
RS232 Adapter Cable able (3m) all Mou

VY

l[b\
((‘\I@ M4 x8mm (x2)

i —

TF

1/4" -20 L=7.5mm (x2)

* The power plug will vary depending on the standard power outlet of the country where it is sold.
** AAA batteries are only provided for USA.

Optional Accessories

USB 3.1
Extender
10m/20m/30m

USB 2.0 Type-B to Mini DIN8 to D-Sub9 Foldable TV
Type-A Cable (5m) Cable

Ceiling Mount**

T

* Optional Accessories will vary depending on the country where it is sold.
** This is a dual lens camera and doesn’t support upside down installation. To mount on ceiling, please
purchase ceiling mount kit from AVer.

English-1



Overview

2 3 4 2 5 6 78 9101
1 Optical Zoom Lens 7 Audio Input Port
2 IR Sensor 8 HDMI Port***
3  Status LED 9 USB 3.1 Type B Port
4 Al Lens* 10 RS232 In/Out Port
5 Built-in Microphone Array**** 11  DC 12V Power Jack
6 POE Port** 12 Kensington Lock

* Al Lens:
Users can see Al lens preview image in Room Management, IP webpage or HDMI out to check camera

installation location.

Al lens is used to detect participants within its 95 degree field of view to trigger optical zoom lens to
track people in the room. Please don’t put the camera on table because the Al lens view will be blocked.
The suggested installation height is at least 1.5m.

** Power over Ethernet (PoE) is compatible with IEEE 802.3AT/802.3AF. Please use CAT 5e FTP cable
(not included.)

*** HDMI out streaming supports picture in picture (PIP) function. For more details, please refer to
user’s manual.

HDMI Screen Layout

Lens 1

**+* The built-in microphone array is designed for Audio Tracking detection, which cannot be used as an
audio input source for video conference.

English-2



LED Indicator

Solid blue: Power on

Solid red: Start-up

Solid orange: Only power cable connected

Solid blue: Video on

Solid white: USB cable is connected but camera doesn’t have any streaming out
Flash orange: Manually update FW

Gesture control

Blue light blinks for 2 seconds: Successfully wake up gesture control function by any
valid gesture command

Blue light blinks for 4 seconds: Camera recognizes a valid gesture command and
start to action.

[Note] The default of gesture control is off. Please enable it via Room Management or
IP web page. The effective distance is up to 5-meter away from the camera.

Installation

1. Connect the camera to the power outlet.

2. Connect the necessary cables.

[Notes]

W Secure the USB and RS-232 cables with
attached screws.

B Make sure the cable is well connected to
the connector on the camera before
securing the cable.

English-3



3.

Connect the camera to the computer/laptop.
[Notes]
B Use the USB 3.0 cable included in the
package.
B CAM570 has the USB 3.1 port which is

USB 2.0 compatible. S\
Maximum resolution/fps for USB 2.0 and
USB 3.1 port are shown below.
USB cable
USB 2.0 USB 3.1 HDMI
YUV M-JPEG YUV M-JPEG
- 640x480 or less - 1080p/60fps - Up to 1080p/30fps - Up to 4k/30fps - 1080p/60fps
resolution, up to
30fps - 720p/60fps - 1080p/60fps - 1080p/30fps
- 720p, up to 10fps

Al lens is used to detect participants within its 95
degree field of view to trigger optical zoom lens
to track people in the room. Please don’t put the
camera on table because the Al lens view will be
blocked. The suggested installation height is at
least 1.5m.

Connect the Ethernet cable for IP streaming
and remote camera control.
[Note]
B To ensure stability of IP video streaming,
please use CAT 5e FTP cable.

Connect an HDMI cable to a TV monitor to
have instant live video.
[Notes]
B HDMI port only supports 1080p resolution.
B If you select RTSP/RTMP resolution up to
4k resolution, the HDMI out streaming will
be disabled.

Monitor/TV

1.5M

Switch / PoE Switch

Monitor/TV
L Ethernet cable

(Not included) HDMI cable

English-4



Remote Control

e ™ B Press and hold the number button

Ca Sealect P .
Lamera select O Enter for 1 second to enable or disable RTMP

Camera Directional i EREEE R streaming function.
Control | _.@@

OSD Menu | o B Press and hold the number button “ ?
SmartFrame - - -{o(x) (3] (£]e| MUI/Un-mute for 1 second to force camera to enter

__Z_‘?‘_’!'_'_"_"_'(_)_‘!l__.@ f | Vdume Up/Dawn® sleep mode. This will end any video
& . streaming. To wake up the camera, press
Preset Preset Hot Key

””””” (&) (m)el T the button or any directional button for 1

second. This mode is not functional while
USB streaming is on.

CAMERA SELEC

B Camera Select (@ (2) ): One

remote control can control up to three

CallAnswer™ | =" | Hangup

Aver

AVer USB cameras. To bind cameras,

please use Room Management or access
AAA Batteries (required)

*Not supported for CAM570

IP web page to set it up.If you don’t’ do
any binding setting, no matter which

B Preset (): The Preset button on the

remote serves 2 functions.

To Save a Preset - Move camera to desired
position. Press and hold the preset button until
you receive the save message on the screen.
Select preset position button 0-9 to store the
current camera position. Repeat steps if
needed.

To Load a Preset - Press the preset button
and preset position button 0-9 to load a saved
camera position. Repeat steps if needed.

" for 1
second to turn on or off the WDR function.

Press and hold the number button “

[Note] WDR function is suggested to be used
in high contrast background environment to
enhance the dark area. The frame rate will
drop to 30fps or lower. If the light condition is
normal, this function will cause image blur.
Press and hold the number button @ for 1

second to turn on or off the SmartFrame
function.

English-5

number you press, you can control all the
AVer USB camera around you.

B SmartFrame (): Press for 1~2
second to switch the SmartFrame
function among Manual Frame/Auto
Frame/Preset Framing/Audio
Tracking/Presentation modes. A message
(as figures shown) will display on the
screen to indicate the mode while using
HDMI out function.

Audio Tracking
Presentation Mode

[Note] SmartFrame deploys face and body
detection technology. People wearing
masks and side facial profiles can still be
detected. The maximum detection distance
is 7-10 meters away from the camera.

Set up preset points in advance (Only for
Preset point 1-9. Preset 0 is for home
position).



Wall Mount Installation

1.

Use the drilling paper included in the package to drill the holes in the wall where the user wants
to mount the camera.

Use the screws (not included) to secure the L-mount bracket E on the wall.
[Note] For cement wall: M4 x20mm self-tapping screws (x4) + Plastic conical anchor
For wooden wall: M4 x20mm self-tapping screws (x4)

Then, assemble the L-mount brackets [ + IE with 2 screws (M4 x8mm, included in the
package).
After assembling the L-mount brackets, use the screws (not included) to secure the lower part of
L-mount brackets on the wall.
[Note] For cement wall: M4 x20mm self-tapping screws (x2) + Plastic conical anchor

For wooden wall: M4 x20mm self-tapping screws (x2)
Pass the cables through the hole on the L-mount brackets and connect the cables to
corresponding connection ports.
Use the remaining screws (1/4”-20 L=7.5mm, included in the package) to secure the camera on
the L-mount brackets.

@®

English-6



Making a Video Call

A computer is required to use this device.

1.

3.

Open your video collaboration application such as Zoom, Microsoft® Teams, Skype for Business,
Skype, Google Meet, Intel® Unite™, RingCentral, BlueJeans, V-Cube, LiveOn, CyberLink U
Meeting®, TrueConf, Adobe Connect, Cisco WebEXx®, Fuze, GoToMeeting™, Microsoft® Lync™,
Vidyo, vMix, WebRTC, Wirecast, XSplit.

Set the CAM570 as your primary camera device in your application (Please consult your
application setup guide for details).

Ready to make a video call.

[Note] CAM570 is a Plug-n-Play Conference Camera. The system requires no special drivers. For
advanced setting and firmware update, please download Room Management.

Configure Settings on Room Management

1.

Download and install Room Management (formerly PTZApp 2) to your computer from AVer
Download Center. (https://www.aver.com/download-center) and launch the software.

Note:
e Make sure your device is connected to the internet.
e Room Management and your device must be on the same LAN.

Connect your device to your computer using the included USB cable. You device should appear
under the Device Control page.

Click Setting to control audio and video settings.
For additional information, please refer to the Room Management user manual.

Information
CAMS570

m

& 192168199 &

Setting

English-7


https://www.aver.com/download-center

P

BEASY

WA

USB 3.0 Type-B &
Type-A B4R (3 K)

i DI & 8 m i DIN g | HOMImES Gm) | mmzmEe B 444

M4 x8mm (x2)

1/4" -20
L=7.5mm (x2)
R E Y SRR SR ETAA R -
“* AAA Bt E R -
SRRt
USB 2.0 Type-B & mini DIN & —— USB 3.1 IEE®
Type-ABIER(5 #) | D-Subd iz RS

“ERRTERBEEBRXMAMRARE -
“ENBRZERNTEREREE - IFRRIEALE - BE AVer SERMEEN -



1 |
/_’_":fﬁ*"‘-\
= A
2 3 4 2 5 6 78 9101
1 HrEBEERER 7 E@AR
2 IR EOHIZE 8 HDMI g***
3 MEETRE 9  USB3.1TypeB &##i8
4 AIEBRE* 10  RS232 B A /& ERIR
5 AEETEME 11 DC12V ERiEL
6  PoE &g+ 12 Kensington FF&AL

*ANLEZIRE :

EAETIE Room Management ~ IP #8535, HDMI BH Pig1R Al SRIETRER B - DRSBTS
fusE -

Al 5ERT1ER] 95 ERBAMAR - WA CESERE - LIBMEAAR - B2REEHREERL
DS yhtt Al RERMRE - BEZESEEIR 15 AR -

** Ethernet #tE(PoE) - B2 |EEE 802.3AT/802.3AF 1HE - A CAT Se FTP BHR(RR) -

= HDMI it RZEREFE (PIP) I8t - BEEZHAEN - BEREAEFM -

HDMI Screen Layout

Lens 1

e RS EMESIES Audio Tracking MaET - MAMARASENZT REAFER -

ZREP-9



LED #&7R1{E

FHIZH

ERES
ALEESS
BEES
ERES
BEES :
1EIEPILE

%

RRED

EBERERR

AR AT

& USB B4 - BEEEELIUSRARHL
FoEMENE

BEEIERIM 2 B . A B MM F B < A TIIRRE F 2 LB TNRE

BEEIERIME 4 B - MERMHIAUNWF R o< WHRERE -

[ER] : FRIEFITHEETERBIER - 588 Room Management 3 IP fBEERIA - B
MEEBE MEREE RS 5 AR -

RiEEE

1. BEPREEEEIREE -

2. EENERER -

[EE]

m EFAREMIAVIRAAE E USB A RS232 B4R -
B EEER A - FRAERCERERD
R ERERIR -

ZREPC-10




3. BE¥

[EE]

m EERSE PN USB 3.0 FER -
m CAM570 B7 USB 3.1 ###i8 - oJ8 USB

T E /SRS -

20%8% -

USB 2.0 71 USB 3.1 EEIEH B ABRITE

/fps TF -

USB #&##4%

USB 2.0 UsB3.1 HDMI
YUV M-JPEG YUV M-JPEG
- 640x480 HEMEM | - 1080p/60fps | - RS 1080p/30fps | - B& 4 4k/30fps | - 1080p/60fps
E - & 30fps - 720p/60fps - 1080p/60fps - 1080p/30fps
- 720p - &®& 10fps

4. AlSREETIER 95 ERBFANWAS - WAERCEE
RIRER - LUIBMZEAAR - B2RBEHEESR
£ - Btk Al SREERIRE - EReRsEED
H15AR -

5. EEIXMIREKRLUET IP HREHMAERRE

] -
[xE]

m SRR IP R SERARES

FTP /848 -

6. i% HDMI EHpEEZERER

BEA -
[xE]

FBfER CAT 5e

IESENS B

m HDMI BE%1E 1080p FBTE -
W E{RFTEEA RTSP/RTMP R4 B 4k fRAT
£ - 8 HDMI BiH B RINAE IS 1= -

ZREP-11

R | PoE 3

ZRHBEBR

(R=)




A
............. D5 | g

ﬂ%&ﬁﬂ%ﬂ(fi%) """"
0OSD EH

TEEE 7 {WEV?- 77777777 HEET

AAA E(E)
* CAM570 A28

m ER(0): =

ae
BE °

REER-BRESEMBUE - REBRRE
it BEREER LEIRENR - BEERM
BiRi 0-9 RIFEFERIRBUE - IRFE -

AR 1ZIERIZBAFRR U B 125 0-9 2KE
AERENIRERUE - IRFE  FEESH -

W RERTEE (1|1 PELHRREEE WDR

IhEE

[.:I] ERHLEEERIRIE T - BE[ER WDR
£ LUBSIRS - ILIRBEEREEZE 30fps
IJZETE_E ENBIREES - RILINEERS SRR

BARH -

B ORGRTRE (5 1 DENERIMERE

HHERTRE -

rER M RRIZIBEAMEL

m RERTEET| 8 |1 DANBALER
RTMP ERINAE -

W omERTRE | 0 |, 1PE LR
EARRET - SRR RET . B
WET - HERERE 1 DRI R
- IEERNERERER - ZHEE
BIRK USB B2 BRAILLFASRARIERS -

N BERIE(1) (o)) —EERREST
ZH= AVer USB HESI - EZHEM
/4% - ;5 1#F Room Management 34 £ IP
BEETRE - ERREEANE - AFE
BT WMESERS - HOLURHIAFR AR
AVer USB 514 -
mEna(x): 521220998
SmartFrame TIAE - RF B EREIER/ B E)
HHEEE/ AR MR/ RS RS /MR
XM - ERLBHE-ANE
(ERTE - EHRRER HOMI B IDEE
R LU A EATIESS -

[ Preset Framing I Audio Tracking
[ Presentation Mode |

DEE] SmartFrame BE#EBEIF AR SR
ilg - O S ERc 2B SRR A
ORI - A RIPERE R IE B RS
7-10 nR -

BT E TR AN R I B RLES Preset
Framing IO&E - ERERR ETRRLA 1-9 - TEER
250 2 Home MO E -

ZREP-12



ERiRR
1. fERERPREIMEI A CRE B REORE LR -

2. ERRMGRE)E | Bz A BrREiE L -
GEE]  SHICRYE - M4 x 20 mm EIKIR 4 (x4) + RIS s
R : M4 x 20 mm B X2 44(x4)

kit
'
>]
+

3. A¥ - H2EBAMAx8mm ASEERP)AEER LBLE B .
4. STHAE | BLRSRE - ERBHCRE)E L 2B RN M BEEERL -
CEE] #HOKER : M4 x 20 mm BERHH(x2)+ LB $# /1
AR © M4 x 20 mm BBUR#A(X2)
5. IBBARTE L MLERENA - RARBERERERERIERE -
6. ERREFNEHA (1/4"-20L=75mm - AZEEED) HREREE L WLEXRLE -

@

FREEP-13



EITHEHME

TEEMAEFERLRE -

RRUSHIRETIBERE R - Bl Zoom - Microsoft®Teams - Skype for Business - Skype ~ Google
Meet ~ Intel®Unite™ - RingCentral ~ BlueJeans ~ V-Cube - LiveOn * CyberLink UMeeting®
TrueConf - Adobe Connect - CiscowebEx® - Fuze - GoToMeeting™ ~ Microsoft®Lync™ - Vidyo
vMix » WebRTC - Wirecast - XSplit °

2. H& CAM570 RERERAREINETRR (REFANSBELELNERELIRERES) -

3. ERETRNEE -

[EE] CAM570 2EMERIARIR S IR0 - Z 2R A BER KRR 2 - BRERR EMFERER -
# F& Room Management -

=

{#H Room Management FHERE

1. # Aver T&EH (https://www.aver.com/download-center) T &% 3 Room Management (J&
PTZApp 2) ERHIEN - FAEBREES
E2 38
o HERENEEBEMIRER -
e Room Management FFEEMNEAMMNEER LAN -
2. FEFABEME USB ERGIKEBERZ B - TR EBETHIRTE Device Control 7E -

3. B—THRERFEZSAMFNRE -
BZEMBESHE Room Management EREF -

Information

CAM570

(@)

& 192.168.1.99 &

N oo

A AE

ZiEPX-14


https://www.aver.com/download-center

EA 3L

BENEY)

= 3 5 USB 3.0 T -B 2
BT HZ I ype-B |

Type-A %528 (3 m)

M4 x8mm (x2)

1/4” -20 L=7. 5mm
(x2)

* HLYRAESK AN AR R, A0S H I R/ DX PR v PR Y537 PR 17
wk AAA HEIAYLIEE

H] R

USB 2.0 Type-B | Type-A | mini DIN8 % D-Sub9 u USB 3.1 K%
/"%D?L
ST =

* T £ B4 T BT AT
s WU SR A POR Bk BIHL. AT, W Aver INOHIEE.

fAj iR 3C-15



P4

2 3 4 2 —‘5
L Jas A ig sk 7 R AT
2 IR R 8 HDMI $f***
3 RS 9 USB 3.1 Type B # [
4 NIEfResk* 10 RS232 i\ /4 3 11
5 PR TSGR 11 DC 12V HFEHHEAL
6  POE Jii [1** 12 Kensington i # fL

* N A EE K
ffi & "TfE Room Management. IP M Tak HDMI i fr R AT B2k TS, DU B BN 23
fiHE.
AL B3R W T 95 BEALEF N 5, FEilk b fE Bk, DUBERE N NG, T 7N IBTE R |,
G its Al Bk HIETF . BB RmEE RN 1.6 AR,
** DR (PoE), 5 IEEE 802. 3AT/802. 3AF 345 . &{#i ] CAT 5e FTP £k#i CRAIREN. )
DML fr B R R (PIP) ThiE. ARHE 24NN, S REHE T,

HDMI Screen Layout

Lens 1

st AR T XU B 50 Audio Tracking MBETF, ok MO RS B S IEMR A o

faj {1 3 -16



LED f5/~AT

WITHES: Tl

AITHER: B

BT H S UG IR

WITER: R

BATH R CiEdk USB AEHZR, (AR HICATAT & 7 TR
BEATIRN: Fah Rk

T

VST IR 2 8. 10 U F 36 & e i 445 T e

WEXTINER 4 7 BEHIPHRRE B0 F R & I I ERAE

GE]: FABHITHEETE NEH . EZiL Room Management 5% TP W TUJH - A RUEE
PR BN B A R

L BEYLL IR

2. EBUBERNSL.

[¥E]

B [ BT BiR 22 [ 52 4 USB Al RS232 £k,

W [ E LRGSR RS0 4R 5B b 0 DR [ %8

fRj AR H S -17



3. IREUNLS /T A U T

(]

W A AL Y TR LAY USB 3.0 £k

W CAM570 3B HICE 5 USB 2. 0 M4 USB 3.1 #0.
PLR 5 HARXT USB 2.0 A1 USB 3. 1 32 D [ K PR
/fps.

USBZ:4%8
USB 2.0 USB 3.1 HDMI
YUV M-JPEG YUV M- JPEG
- 640x480 BLFEALA#E | - 1080p/60fps - gk - ik 4k/30fps 1080p/60fps
MTRE, fis 30fps 1080p/30fps
~ 1080p/60fps 1080p/30fps
- 720p, #xiE 10fps - 720p/60fps

4. AL BEKTTTI 96 FERLEF BTN B, IR 6 AR
gk, LBEREA AR  HZ R NIRE R b,
PAG Bt AT ik AT . e dem RN 1.5
AR,

5. EEEEDUKML&S, BT 1P BE BB ILER.
(]
W i ] CAT 5e FTP 2845 AHI{R 1P A0S B I RS 8 1 o

6. 1% HDMI {Zkaskiite 2 el iR - DANUS RN EiE
PR -
[¥]
WHDMI $54Y 4% 1080p fEHTEE.
W 518 T3 3 ) RTSP/RTMP f@HT B3 4k AT, U HDMT
it R IR T AR P

it rh3C-18

1.5M

FFK/POEFFX

SRS
CRRETER)

HDMIfSt5%%

/BN




IS

| |
REHEAR u
RENELR |

OSDERRR
Smartframe ==~

/KR .
meg |
Ecli N

BeHI/EE | u

FEH ] AAA FLI

* N RE CAM570

B (© ] e B R B D)
BREE — B s B T ERNME . 1%
T T S B B A T MRS
B BRI ER 0 - 9 UMEA 4TS
PALE. WRFE, EER LR,
TERPRE — 4 F AW 0 - 9 LUk
PRI B . R R T, EERE LIRD
%,

W TR (1) 1B, LTS
¢4 WDR Thg .
(] TR SN, @ WUE A WDR I
Be, LAEOERE .
S T R R 30fps BUE(R. BOhdks
HRIEE, W IhRe SERAZEN .

W F e {5 7 LR, TR
J [ SmartFrame ZhfE.

gt rp3c-19

BRI AT RO < 8 |7 L BB, LT
B P RTMP B i Eh g

e | ‘@ L AbgR, DLl AEHL
HENBERRAE . e VIR A MR . 2
MREERE, YR 1 B e ek Ik
Hlo HANGE FH F W0 B B IRAE I, 2
FFJA USB s A4 B i W b P e ME
BRHARE (1) () () —MERE
REZTEHI =6 AVer USB ML,

F B E RN, 75 H Room Management
B TP W TUREAT BoE « 5 R W EATAT S0 5E
WA 5 RWBAN S0, & AT LA il 3 e
B AVer USB 15544

SmartFrame (5£): Hikct | % 2 BHATY)
# SmartFrame ThEE, T T3 GEHERE]/
BN REAE ]/ TR RRE R /BB R 5 & /iR
R Z M T U . 2EpEsE LR —
FAER GEW TR (CHILTEEH HOMI
HIRERT) B pr i B AR

Manual Frame

(73] SmartFrame 5K TH #BF AT HL
Ao DT T2 SR MG A SR AT LAEAT IR
S KAV B8 i BN 7-10 AR, 1
B E T R X I 5 8 Preset
Framing TjfE. (LBERETR A 1 - 9. Tl
W5 0 /& Home If B o



B

1.

2.

T B3 PO IR B FLARAE P i R S A L B T _E A AL

ff I8 22 (REFEEM) # L i”fzﬂéésw& SELERE E.
E] AFF/KRES: M4 x 20 mm HIHRLL (x4) + YERMETEIKE
BT ARFRE: M4 x 20 mm [ IUEZ (x4)

IRIE, HIPIBURZZ (M4 x 8 mm, CUELFRZEGREA) 4148 L R3340 A . E

4. B L MRS S, MR CROSEAEN) R LR 4 T 223 SO0 T 800

GE] SFF/KJEEE: M4 x 20 mm HBURL (x2) + SRR E
WFARFEE: M4 x 20 mm [H B2 (x2)
BRI L A3 LN AL, RIS S4B Y5 5 AR B s
A THIRZ (1/47 - 20 L = 7.5 mm, ALIEAEAEE ) BEREEHLIE 2 2 L e so e,

@®

fi] A 3C-20



BT

o F UL B T — 5 L

1. &R ME R TR, #1401 Zoom. Microsoft” Teams. Skype RV Skype. Google Meet.
Intel” Unite™. RingCentral. BlueJeans. V-Cube. LiveOn. CyberLink U Meeting'. TrueConf.
Adobe Connect. Cisco WebEx'. Fuze. GoToMeeting™. Microsoft” Lync™. Vidyo. vMix. WebRTC.
Wirecast Fll Xsplito

2. ¥ CAM570 R B R FIFE 7 0 S HL PEGE 0 s A5 b S FH S R P W B 48 R -

3. BCR BRI AT TS IR

(3] CAM570 2 — K I R A B 2 WAL o Z RGN ZEREFFIR I IR BN TR 7 o T 1 S 15 B 0 [l - ) 53

% % Room Management .

{#A Room Management RAEIRE
1. M Aver FHH (https://www.aver.com/download-center) F#EHFH %% Room
Management (R PTZApp 2) ZRRITER - SAEFERE -

i
o HALRIGIIAE B R BAL .
e Room Management A1 B AL T M R LAN.
2. {EFAMEMIM USB EEANEBERETEN - MMWEBESHITE Device Control £ -

3. BHFER[ESHANATIRE -
BLERIEZIH Room Management EAFAR -

Information
CAMS570

(@)

& 192168.1.99 &

N

A AE

fif R 21


https://www.aver.com/download-center

ot BWIEUEI
B 4 TR itk

Mini DIN9 to MinDIN8 RS232 o . ] e
ERT LTS HDMI 4 —7JJL(3 m) BRERT IV MYEHFRS

M4 x8mm (x2)

€T

1/4”-20
L=7.5mm(x2)

*BRIST ORRIT, RFESN DM OO M KICEYRBYET,
*B 4 BMIERKETOARBENTNES,

AT avERFE
USB 20 5/—ZJW(5m) | Mini DIN8 — D-Sub9 ' - USB 3.1 ERT—T I
4y JF— / e

S

IIL

=
HARMRET AT XAAZTTHY . L FREDFEICERIGLTOER A,
KHITERETBBE L. AVer DRFARTFIbETHALIIELY,

BAGE-22



AR

1 RBEX—-LLVRX

FA—T4F AhR—k

FRIMR A HDMI H F7 i Fokx
JRAER R LED USB ##F(USB3.1 Type B)
Al L X% RS232 A hinF

R AT T LA x0k 11 BREAO
PoE XFS#LAN i F#k 12 Kensington 0%

oo g A W N

* AlAAS:

NASDHRBEFFEHETET HBE . Room Management 7 7 E =Xz T RE =L HDMI H H—2 T AL A
SOTVE 12— ERERTEET,

Al A AL FOVISKDEE TARZREL TAER—LIASEEBLE THRD ADEBILET
HASIET—TIAEEFRB LGV TSV AIIASORBIERTEE A, HRBEESEERIE 1.5m
T9,

#k PoE SAEZBIREL-ELRDIHA . CAT 5e @ LAN y—J)L (FEEHR) ZERAL TS,

wrx HDMI i A TIEEYFv—- A2 -EVFr—PIPBEEISHELET  F#MlE. 21— —< a7 L El8<
Z&ly,
HDMI Screen Layout

Lens 1

wok NI A VT LA RBA—T4H v F T RICHBISRGH SN TEY  ETARBOA —T+F AN EL
THERATHILFITEEEA,

BAGE-23



LED S THRER R

BRI . ERAY

FEKT Bt

FLOO AT - F#h (BRT—J LD HER)
BRI ETAHEAHY

AR EFAH A4 LWUSB —J LR
FLODRICARE: W EFHTEHLES

PIAFr—avkA—)L

2PRIRMOT AR ADECIAFYy—avTUREERAL, PIAFy—arbO— LR
ADEROBERR: AHEOTAFr—aI U RERELTEERR

GEE]: TIO4IATIES T AFy—ar bO— LiEEEIEA T TI, Room Management 771 E
f=[ZWEB EEEEM oA RICL T ZEW, BRNREEE, HATMHOER KA S A—FLBERTLVE
ERD

BARDRE

1. GRER7YTLEHEAL. AATARELET.

2. BY—JIEEHLET,

CE]

W USB-RS232 m¥—J LB CEFERALEELE
T

B =D )ERCTEET BRI, K7—TILhihA
SOIHFICELERSN TSI EEREL TS
Sy,

BAGE-24



3. HASENRYAVEUSB r—TJ I TERLET,

CE]

B Ny —CFEBO USB 3.0 y—JILEERLEY,
B CAM570 [% USB 2.0/USB 3.1 TEIMELET,
USB 2.0/USB 3.1 &tk & I KE TA R IR E

UsBy—JIb
USB 2.0 USB 3.1 HDMI
YUV M-JPEG YUuv M-JPEG
- 640x480 LA T Df# | - 1080p/60fps - £ KX 1080p/30fps | — #xK 4k/30fps 1080p/60fps
BB, &K 30fps
— 720p/60fps - 1080p/60fps 1080p/30fps

- 720p, FK 10fps
4. AIDASIFT 95 EDREZEENTSIMEZREL,

HEL Y XEEBESLBRIERO AMEBILE f

o AIFASDRANESNDTO. hATET— L

gy, Al

TIVIZEAIENTLIZEL, #

UETY,

BEmclE1.5m

5. IP HMEEZERTHBE . HASEKMED LAN THF
&L RYNT—(ZIEHATREL: LAN 35 F% LAN &

—JIL(FERHR) TRRLET .

CE]

B RELEPETHREZHERT =0,

CAT 5e @ LAN ¥—J JLEERLTIEELY,

6. EEMEEHHTEHE.HOM —T)LE TV
EA—AERHL TS0,

CE]

B HDMI (£ 1080p DRIEE DA IZx L TLET,

A4 YF / PoE 24 vF

W 5K 4K @) RTSP/RTMP f#{&E%:&RF 5 L. HDMI

A=V THAREMICEYET,

BAGE-25

iy

ESH-/TY
= 1.5M

==
EZ5-/TV

A—429br
— TN ER)

HDMIT =T b



BEJVEIY

NASMIER

UEDL OERICITE M EM GEER) MR ETY,

* CAM570 TIXERALEE A,

B FUtyh( © ) T EEIERALET,
FVEIhORE -BEIC A E—IRERRENDE
T T MRV E R ES, Ty MBI
B2 0-9 DVTALERT & MUILRFRALIS
THASHE - X— MEE ISRESNET,
HRONASHBEERTHHE . LRFIEERY
L. BRFRECHASHBEREFLTUHZED,
T)EIrDEEY - Tty RaVERGEL, T
LUMEBRAHOMFREY 0-9 ZRTE, RE
SNITHATHE - X — LEEISFUHEAES,
s 1 ]1% 1 HRIEML—WOR BEEDT
I TERVET,

CER] FELEBIEAIET 3720, WOR BEEIZH B
LOFRNKRENMSE DA ERHETT, TL—L
L—h I 30fps BT IBABIERAHYET .

B E OB TIE AL TEHRLET

ket 5 1% 1 BEERLT. R7—IL—
LHEEDA /A TETVET

BAGE-26

wF AT 8 1% 1 BERALT,
RTMP #EEDA /A TETNET .

wERaT| 9 12 1 BEEMLT, 7
ASHEEHIEIZRY—TE—RELY, §
RTOETAHAERIELET . RU—
TSERT B, REL a5~
| BRRRLLET,

XUSB BMEH P RHBEEILEMICGYE

j-o

AMERA SELEC

HASDBR(G)(2)(3):UEIV1E
THRK 3 BD AVer USB hASEFIHT
EFET, AATEYEAVITEE S E SIE
&1%. Room Management 7 1) E1=I&
WEB EEEE MR EL TZEY, E
BEEELLEVE, UEIVTEDREY
L TH. BB D AVer USB h A5l
HTEEEA,

2T—hIL— L ]): 1~2 BRHEL
T. SmartFrame #REEZFEITL — L/
BEIoL—L/ Ty IL—35 /4
—FA4F I SvFx T/ TLE T3
VE—RIZHIYBZET , DATIRIRIC,
REDE—FERTAVE—UMNRRS
nET ., HOMI E R4 [T 55
EDEH -~ TOMESIHL TLREEW)
[F] AY—hIL—LHERED BRI H
BEAASMNOESIRDERIT 7 ~10
mfBETY,

*xHOMLH T yMuIBEHEL TS
FEEN TV YMEBIF 1-9 Dd, TV
b 0 [Fh—LRTavA) .



BRERVIUNOmTAE

1L R r—CRBONRFTERESEIC WASERET DEMOBEICNERITET

2. FSGEHEEIT L-v o kTSl A SR ERLES .
GE] EAVMEDIZE M4 x 20 mm 2YEL S RLE4) + FSRAFYoAMTH—
ARBEEDIZ A M4 x 20 mm ZvE LS 1 l(x4)

3. L—'~7"7‘/I~75’7"‘J|‘E + E %2 ARDIIMA x 8 mm, (FER)THAEHLEET,
4. L-XoVRISTyMAEhER. AOEEFBRITL-IOUNI SO TEHERICEELET
GE] EAVREDIZE M4 x 20 mm AYEL T RLK2) + TSRFVIMA%T > h—
RELEEDIZE M4 x 20 mm ZvE T R lx2)
5. 7= )V%E - I S IRDRITEL, §T—TILENASDIHFITHERLET,
6. EYDRI(1/4" -20 L =175 mm, fFE&R) T, HATE L-XI LTSy BELET,

BAGE-27



HEDOEAAE

ARBOFERAIZIE, VAR BEELYET,

1. FET B/ ENATEMRE USB y—D L THERKL. WASEFERT 7TV r—a &gl E
ED

2. FRT7IIVT—1arDTNAREKEIZT CAMS70 ZFERTEHASELTRIRLE T GElIZE 7T
T—2a v DEREHARESSBIZEN),

3. INMTHASEFERTIEFIEIETTTY .

[E] CAM570 I&, FT5T TURTLAIZERLTEY . FSA/DEBMAVR—ILEBLEELEE A,

HMNRTE - 77— LY 7EHEIT5BE . Room Management %4t HP KYF Y O—K- AV RAM—)LLTD
FIALEEL,

Room Management TiZ7E & #8HK

1. AVer Download Center (https://www.aver.com/download-center) A% Room Management(|H
PTZApp 2) &4 A—RLT/AYAVITA Y AR—ILL, VI I T ERELET,

bz
o BEVDTNARBAUI—RYMIIERIN TSI EFRERL TS,
e Room Management &7 /\ARIEEL LAN RNICHEIBENHYET

2. fHEB®MOUSB 47— IEFRLTT /A RE/AYaVIZHERLET . T/ 1 R(E Device Control R—
[ZRTRENFET,

3. Setting #7UvILTC A —TA4ALETADHREEAELET,
S DLVTIX. Room Management D 1—H—<=a7I/LESBLTEE,

Information

CAM570

A

& 192168199 &

Setting

BAGE-28


https://www.aver.com/download-center

7| x| 8=

CI =1 223 / AAA SR OHEIY USB 3.0 Type-B to
= SiEle BE E2x | Type-A HOIZ(3 n)
] 0

HOMI AOI=(3 m) | HE OL2E JIE OI2EE LIAL

Mini DINS to Mini DIN8
RS232 O1EE HIO0I2

2§
(o=

M4 x8mm (x2)

TF

1/4” =20 L=7.5mm
(x2)

*MP 2] BiiEE Io0t2 2F 8 2HEN T2t GHSLUICH
= AA BiEI2I= DI=0AM2 MISELICH
AN M2 4

USB 2.0 Type-B CH . . - VAL 2 USB 3.1 ¢IEH

Type-A HO0IZ(5 m) Mini DIN8-D-Sub9 30| & HO|A TV OI2E 10 m/20 m/30 m
/% o, ‘

I.__l =IE K@ . {

S/

*Z8 BN AClE B0 =0t0il et CHELICH
& X Jfetz AE0AM X1 = ASULCH AT A Aver OIM & OI2EE
TG FAIJl HFEFLICH

o
3
24
N
o]



Ma

2‘ 3 4 2
1 SEZ 5 d= 7
2 IR Sensor 8 HOM| L E***
3 AHEH LED 9 USB3.1Type B ZE
4 Al EIEx 10 RS232 /& ZE
5  LHE OOl el Ol#*x 11 DC 12V Power Jack
6 POE EExx 12 ANE

* Al Bl X

AHZ = Room Management, IP & HIOIXl = HOMI SZ0IM Al = 0l2l2D] OI0IKIE B2
ottiel X fAXE Eolg 4= JASLICHAI lx= 955 AIOF LHOIA &IOS 2 XI5t &8t §
dEAE E2IAHGIH 3ao Us AIHZ2 F=HGt= O AAEELILH ePTZE KIAGHK &SLICH
20 HOIS A0 IH2E S =X A AXBI|JF JMSHELICH AE &X =0l=

Z A 1.5m LICH

** T @1 0OlCY! Z2A(PoE), IEEE 802.3AT/802.3AF S&F. CAT 5e FTP HOIE2

ol SV"/\IQ(‘*‘DH)

*xx% HOMI Out AE2|2 PIP(picture in picture) JIs2 XIZELICH XHMISH AlSt2 AlE
/\-IDZI)\-IE XI’IO}}\ljl H|.E.I»L||:|.

fnr 2

HDMI Screen Layout

Lens 1

= LHE 01013 Odiols QUL FHE ol S0l £AHHUUSH =tat 32|29 2L
LEOZ AIEE = SUSLICH

o
A
24
o
o



LED EA|S

HM 0F: HE AN
HM DF: AR
ZgM DF: WY H0ISS A2

HM D SH4 AT
ZEM ZUe: £202 AN YUI0IE

HAX RO

FMS0| 22 HY: RSt MAM 2822 MAH MO JIsol 4
2N QE0A e

FMSO| 42t BY: SO K58 MAX
[#D]: MAM Moes Jl2 834 HM UASLICH. Room Management
HOIXNM 28361 FHAML. R& Hele ItHl2tolA =ICH 5 01&

USLICH

fan

BHA F: USB AIOIZ20] HZEJAXICH StH2toA AERIY &20] o

ol

zxo2

HHS QAIGtD HSTHI| AIE
C

25

1. JHHI2tE &3 SHEN HAZSAANL.

2, ZRE HOISS HAZSAANR.
[&1]
B USB 2t RS232 HIOI=ES SS& LIAIZ
NEOHYAIL.
mJ0l=S 1Foh & I
HAUEN & HEHUASK =G AIL.

]
i
24
S




3. JHHZE ZRE/=ESH AZSAAL.

[&2]
B I§3| X0 Z8&E USB 3.0 2012
OIZotEAIL.

B CAMS70 = USB 2.0 1t S&ttl= USB 3.1 ZLEE
21 AsUbh
USB2.0 2 USB3.1 ZEQ = SHAaE/fps =
Cteu ZsLUICH

USB 2.0 USB 3.1 HOMI
YUV M-JPEG YUV M-JPEG
- SHALE 640x480 | - 1080p/60fps - |04 1080p/30fps | - ZOH 4k/30fps 1080p/60fps
0I5k, =4 30fps

- 720p/60fps - 1080p/60fps 1080p/30fps

- 720p, EOf
10fps
4, Al elXxE= 95 = AIOF LHOIAL EDIIKE

2 X5t Z& 5 dHXE E2|NHGH

oA U= AIRE =HGt= O

AEELICH. Al &l= AIOD} XEHEZIE22

JtiietE HIOIZ 0l 22 =X OHYAIL. ey

HE &AX =0l= =4 1.5mYLICH. 1.5M
5. IP AERIY & 22 JiHE MO OlGY —

Aolgs HZIIMUAIL.
[&2]

m P HICQ AERIYo HFHAEZ
Il CAT 5e FTP HIOISE OISoINAIL.

6. HOMI OIS TV ZLIE0I HAGE SAl

0|2 SYAS ANEE & USLICH
[&1] K9IA]/ Pok 2914 Iy
mHOMI EE& GHAE 1080p 2 XIRELICH ..
W X0 4k 2 RTSP/RTMP oA EE Mg F2 (o)
HOMI Out AEe2|20| HlZdstE LIt

]
i
24
o
N




2|2 H

\ WX HE “[8]7 8 1E So = AW
___Zholizt HEy Jss AL HIZASGHAAIL.
~ FhoiEE 23 Ao| | mET HE “[9]7 812 S0 £2D
. OsD O | UoT MR BE RS2 MESELIC
AnEzdg D= HIOR AERIY0| AEELICH
o = = = [
= oljope WAL HES CHAl 1 = Sot w2
--------------- 9t HES S24A2.USB AE2/Y0]
r HHYUYS SOHls RSSHA LSLICH
W SO S (@@ ):2122 sz
AVer USB D2t ZICH 3 CHIFKI IO &
Bl- USLICH. JtHetE |8 482 HE5 PEFH
L A-T =y Room Management &&= [P /IOl X0l A
""""""" HEGH LG R 4FS =2 45
OU2 S8 0/l BMSE S202tE =9
AVer USB JtDI2IE 25 MOig &
- ASLICH
AAA HRES2I (%)
Smar tFrame 12 %2t ¥2H
* CAM570 DIXI ()
SmartFrame J1s0| XtdlE =5
CREEIPY (): 212240 Ta|M HES 2 JX B N ~
THOIY/NE Za0lY/I2IM/QLIQ
Jlse s
=X /Y A R = = o o
DM NE - JloieiE fss AR FR/ZAEHOE 2= Za0lY 2=
SAALICH. 3HH ME HAIXIOF ZEAIE HSELICH. . BIAIXI(HOMI &2 D1s2
HOER Zel4 HES ZH F2HAI2. ZelM ANR5H= 200 ofgy 12
o % _ 02 MEHE =
TIX BIE 0 - 98 “solol S et BESAAIR)I BP0 DA REE
AXE MEGAAIR. Bos AL CHE
BESAAID. LIEFLICE
DA 2RI - TelA WED TelA 9IX
HE 0-9E8 =2 M&EE It |IXE
2QMAQ. RS TP oS
BHESHAIAIQ . [21] SmartFrame 2 L2 & &M 2
22 NS A =2 M =13 A
B X oHE @ "2 1%z S0 =2 WA JlE& REgUL. D238 = A0l =
dZs "ol AT 2XE & USLICH
JISE AU N2, 20 2K Hels Mo 7-10m ZOoiH
(1] OS2 222 & 200 ot 0l oI SLICH
BHZ SHOIME WOR DS AF2S ARBILICH R e y
I I = S IT
Detet BaAZE01 %0 fps 0152 WOIBLICH Self Zel=8 Dl Sgeun . (Zeixt
T R0l HAO HS 0] JSS MBS ZeE 1-9 & alg. ZeXos &
I %| A4 Ol
0I0IXIDF BAELICH =Xt
8L
BEXHE" 5 "2 1% S0 =2
SmartFrame JIsS HHU NAAL.

]
i
24
o
wW



N

H OI2E A%
WX Z&s =22 HOIHE 0l&Edt ItictE E=ot0A dt= HoHH 2YS
EOMAL.
LIAFH(EOH)E Ol=ole L-0IRE EE}%‘J% HON DESHAAIL
[Z210] AHE =H: M4 x 20 mm & EHE LIAF (x4) + S2HAE 2= W
ST = M4 x 20 mm AI EHE LIAF (x4)

BIE &: M4 x 20 mm X EHE LIAF (x2) + ZCHAE A8 WH
B M4 x 20 mm A EHE LIAF (x2)

. HOIES L-0I2E et Y22 SHAIA J0IE2 A2 K= HZ ZE0

HAEGHY AL,
LEOI KL LEAR(1/4”
DEGHYAIL.

@




otdE3t 57|

0 ZXIE 0l=dtd™ FFEI ERELICH

1. Zoom, Microsoft® Teams, Skype for Business, Skype, Google Meet, Intel®Unite™, RingCentral,
Bluedeans, V-Cube, LiveOn, CyberLink U Meeting®, TrueConf, Adobe Connect, Cisco WebEx®,
Fuze, GoToMeeting™, Microsoft® Lync™, Vidyo, vMix, WebRTC, Wirecast, XSplit S HICIL
S8 MHE2AH0IEE HAAR.

2. S8 ZZ)B0AM CAM570 2 D12 Ittt X2 dFHELICHKAE Hee s Z204
23 JI0IEE FEGIAIR).

3. SFASIHE & FHIIt HASLICH

[ED] CAMS70 = Z2{0 o Zy 0| gA!l AHRA PHIEFO'LID. 0l AIAEINl= EE2

CEct0IHI 206X 25U, I €3 2 A0 2O 0IE= Room Management £

2z CatdAL.

Room Management Al &% 324

1. AVer Download Center (https://www.aver.com/download-center)il A Room Management(+
PTZApp 2)E U2ZE0tH ZFHEU EXIct) AZEYUHE LI AIL.

&0
o EXIDJI CIHYH AZEO A=X SHOISHMAIL
e Room Management2t &Xl= =25h LANGI UO0I0F &LICH
2. ZEgE USB JOIES MEGSIH EXIE ZFHU HZStAAI2. EXI= Device Control
HIOIXIOfl LIEHELICE.
3. Setting2 2&ol0] 202 % HICIL &322 ZFTAAL.
It 2= Room Management AtZ EZNE IS AIL.

Information

CAMS570

& 192168199 &

Setting

o
A
24
o
o


https://www.aver.com/download-center

Frangais

Contenu de I'emballage

Télécommande Adaptateur secteur & Cable USB3.0
Module caméra - Cordon Type-B vers Type-A
d’alimentation*

| Piles AAA**

VY

- ? ] M4 x8mm (x2)

(=)

TF

1/47-20 L=7,5mm
(x2)

* | a prise d’alimentation peut varier en fonction des prises électriques standard du pays de vente.
** |_es piles AAA ne sont fournies que pour les Etats-Unis.

Accessoires en option

Cable USB 2.0 Type-B Cable de mini DIN8 & Monture sur TV, Rallonge USB 3.1
vers Type-A (5 m) D-Sub9 pllante 10 m/20 m/30 m

* Les accessoires en option varient en fonction du pays ou ils sont vendus.
** Cette caméra est a deux objectifs et ne peut pas étre montée sens dessus-dessous. Pour la monter
au plafond, veuillez acheter la monture plafond AVer.

Francais-36



Vue d’ensemble

1
12

2 3 4 2 5 6 78 9101
1 Objectif zoom optique 7 Port d'entrée audio
2 IR Sensor 8 Port HDM| ***
3 Voyants d’état LED 9 Port USB 3.1 de type B
4 Objectif IA* 10 Port E/S RS232
5 Ensemble de microphones intégrés*** 11  DC 12V Power Jack
6 Port PoE ** 12 Dispositif antivol Kensington

* Objectif 1A :

Les utilisateurs peuvent voir I'image d'apercu de I'objectif IA dans Room Management, la page Web IP
ou la sortie HDMI pour verifier.

L'objectif IA sert a détecter les participants dans son angle de champ de 95°, afin de déclencher
I'objectif zoom optique pour suivre les personnes qui se trouvent dans la piéce. Ne posez pas la
caméra sur une table car cela bloquerait la vue de 'objectif IA. La hauteur d’installation suggérée est
d’au moins 1,5 m.

** Alimentation par Ethernet (PoE), compatible avec IEEE 802.3AT/802.3AF. Veuillez utiliser un céble
FTP CAT 5e (non inclus).
*** | a diffusion en sortie HDMI prend en charge la fonction d’incrustation (PIP). Pour plus de détails,
consultez le mode d’emploi.

HDMI Screen Layout

Lens 1

**+* | e réseau de microphones intégré est spécialement congu pour le suivi audio et ne peut pas étre
utilisé comme entrée audio pour les vidéoconférences.

Francais-37



Indicateur LED

Bleu fixe : marche (appareil allumé)

Rouge fixe : démarrage

Orange fixe : cable d’alimentation connecté seulement
Bleu fixe : vidéo activée

Blanc fixe : cable USB connecté, mais la camera ne diffuse rien
Flash orange : mettre a jour manuellement le FW

Commande gestuelle

Le voyant bleu clignote pendant 2 secondes : réveil par commande gestuelle
effectué avec succes par toute commande gestuelle valide.

Le voyant bleu clignote pendant 4 secondes : la camera reconnait une commande
gestuelle valide et commence a fonctionner

[Remarque] : par défaut, la commande gestuelle est désactivée. Vous pouvez 'activer
depuis Room Management ou depuis la page Web IP. La distance effective est jusqu'a
5 metres de la caméra.

Installation

1. Branchezla caméra sur le secteur.

2. Raccordez les cables nécessaires.

[Remarques]

B |es cables USB et RS232 doivent étre sécurisés a
I'aide des vis placées sur les prises.

B Assurez-vous que le cable est bien connecté au
connecteur de la caméra avant de fixer le cable.

Francais-38



3. Connectez la caméra a I'ordinateur de
bureau/portable.

[Remarques]

W Utilisez le cable USB 3.0 inclus dans I'emballage.

B |a CAM570 posséde un port USB 3.1 compatible
avec 'USB 2.0.

Résolution maximale/fps pour les ports USB 2.0 et ==\
USB 3.1 tel indiqué ci-dessous.

Cable USB

USB 2.0 USB 3.1 HDMI

YUV M-JPEG YUV M-JPEG

- Résolution de - 1080p/60fps - Jusqua 1080p/30i/s | - Jusqu'a 4k/30 i/s 1080p/60fps

640x480 ou
inférieure, jusqu'a - 720p/60fps - 1080p/60fps 1080p/30fps

30i/s

- 720p, jusqu’a
10i/s

4. L'objectif Al est utilisé pour détecter les participants
dans son champ de vision de 95 degrés pour
déclencher un zoom optique afin de suivre les
personnes dans la piéce. Veuillez ne pas mettre la
caméra sur la table car la vue de I'objectif Al sera Monitor TV
bloquée. La hauteur d'installation suggérée est d'au

moins 1,5 m.

5. Connectez un cable Ethernet pour le streaming
IP et le contrdle & distance de la caméra.
[Remarques]
B Veuillez utiliser un cable FTP CAT 5e pour assurer la
stabilité du flux vidéo IP.

6. Branchez un cable HDMI sur un téléviseur pour
L

voir la video en direct instantanée.
Commutateur /
[Remarques] commutation PoE P e & Monitor/TV
m Le port HDMI ne prend en charge qu’une résolution de Cf:anféZ?;Tft Cable HDMI J
1080p.

W Si vous sélectionnez une résolution RTSP/RTMP de
jusqu’'a 4k, la diffusion par HDMI sera désactivée.

Francais-39



Télécommande

B Appuyez sur la touche numérique « »
~ Sélection caméra O pendant 1 seconde pour activer ou
Commande de la désactiver la fonction de streaming RTMP.

direction de la caméra N 2
e 0% ’@C@ B Appuyez sur la touche numérique« : » et

Touche Entrée

Muet* maintenez-la enfoncée pendant 1 seconde
Cadrage intelligent :---- «[=] @ (elef----=- i P R
"""""""""" pour forcer I'appareil photo & passer en mode
Zoom AVIAR . . s
--------------- veille. Cela coupera tout le streaming vidéo.
_Préréglage Pour le réveiller, appuyez & nouveau sur le
bouton pendant 1 seconde ou appuyez sur le
bouton de direction. Cela ne fonctionne pas
Luminosité - lorsque la diffusion USB est activée.

CAMERA SEL

B Sélection caméra ( @L) : une seule

télécommande peut commander jusqu’a trois
caméras USB AVer. Pour relier des caméras,
utilisez Room Management ou accédez a la
page Web IP pour la configurer. Si vous ne
paramétrez aucune liaison, vous pouvez

Piles AAA (requises)
* Pas pris en charge pour la CAM570

B Préréglage () : La touche de préréglage

de la télécommande assure 2 fonctions.

Pour mémoriser un préréglage - Déplacer la
caméra a la position souhaitée. Appuyez sur la
touche de préréglage et maintenez-la enfoncée
jusqu’a ce que vous receviez le message de
mémorisation a I'écran. Sélectionnez la touche
de position préréglée 0 - 9 pour mémoriser la
position actuelle de la caméra. Répétez cette
opération si nécessaire.

Pour charger un préréglage - Appuyez sur la
touche de préréglage et sur la touche de
position préréglée 0 - 9 pour charger une
position de caméra mémorisée. Répétez cette
opération si nécessaire.

Appuyez sur la touche numérique «@»

pendant 1 seconde pour activer ou désactiver
la fonction WDR.

[Remarque] Nous suggérons d'utiliser la
fonction WDR (plage dynamique étendue)
dans des environnements a arriere-plan trés
contrasté, afin de mettre en valeur les zones
sombres. La cadence descendra a 30 i/s ou
moins. Dans des conditions d’éclairage
normales, cette fonction provoquera du flou.

Appuyez sur la touche numérique « 5§ »

pendant 1 seconde pour activer ou désactiver
la fonction Cadrage Intelligent.

commander toutes les cameras USB Aver
situées a proximité, quel que soit le chiffre sur
lequel vous appuyez.

Cadrage Intelligent () : appuyez
pendant 1 & 2 secondes pour commuter la
fonction SmartFrame (cadrage intelligent)
entre les modes Cadrage manuel /Cadrage
automat--ique / Cadrage préréglé / Suivi
audio / Présentation. Un message (Voir
I'image ci-dessous, uniquement lors de
I'utilisation de la fonction de sortie HDMI)
s’affichera a I'écran pour préciser le mode.
Manual Frame
[Remarque] Le Cadrage Intelligent utilise
une technologie de détection du visage et du
corps. Les personnes portant des masques
ou dont le profil facial est latéral peuvent tout
de méme étre détectées. La distance de
détection maximale est de 7 & 10 métres de
la caméra. Configurez les points préréglés a
l'avance (Uniquement pour les points
préréglés 1 - 9. Le préréglage 0 est pour la
position d'origine).

Francais-40



Installation murale
1. Utilisez le dessin de percage fourni dans I'emballage pour percer les trous dans le mur ou vous
voulez installer la caméra.

2. Utilisez les vis (non fournies) pour fixer le support de montage en L E au mur.
[Remarque] Pour un mur en ciment : Vis autotaraudeuses M4 x 20 mm (x4) + chevilles coniques
en plastique
Pour un mur en bois : Vis autotaraudeuses M4 x 20 mm (x4)

3. Assemblez ensuite les supports de montage en L E + E avec 2 vis (M4 x 8 mm, fournies).
4. Aprés avoir assemblé les supports de montage en L, utilisez des vis (non fournies) pour fixer la
partie inférieure des supports de montage en L au mur.
[Remarque] Pour un mur en ciment : Vis autotaraudeuses M4 x 20 mm (x2) + chevilles coniques
en plastique
Pour un mur en bois : Vis autotaraudeuses M4 x 20 mm (x2)
5. Faites passer les cables par le trou des supports de montage en L et connectez les cables aux
ports de connexion correspondants.
6. Utilisez les vis restantes (1/4” - 20 L = 7,5 mm, fournies) pour maintenir la caméra sur les supports
de montage en L.

Francais-41



Effectuer un appel vidéo

Un ordinateur est nécessaire pour utiliser ce périphérique.

1. Ouvrez votre application de collaboration vidéo tel Zoom, Microsoft® Teams, Skype for Business,
Skype, Google Meet, Intel® Unite™, RingCentral, BlueJeans, V-Cube, LiveOn, CyberLink U
Meeting®, TrueConf, Adobe Connect, Cisco WebEXx®, Fuze, GoToMeeting™, Microsoft® Lync™,
Vidyo, vMix, WebRTC, Wirecast, XSplit.

2. Définissez la CAM570 comme votre camera principal dans votre application (Veuillez consulter le
guide de configuration de votre application pour plus de détails).

3. Vous étes maintenant prét a effectuer un appel vidéo.

[Remarque] La CAM570 est une caméra de conférence préte a 'usage. Le systéeme ne nécessite pas

de pilotes spéciaux. Pour les réglages avancés et la mise a jour du micrologiciel, veuillez télécharger

Room Management.

Configurer les parameétres dans Room Management
1. Téléchargez et installez Room Management (anciennement PTZApp 2) sur votre ordinateur
depuis AVer Download Center (https://www.aver.com/download-center), puis lancez le logiciel.

Remarque :
e Assurez-vous que votre appareil est connecté a Internet.
¢ Room Management et I'appareil doivent étre sur le méme réseau local (LAN).

2. Connectez votre appareil a votre ordinateur a I'aide du cable USB fourni. Votre appareil devrait
apparaitre sur la page Device Control.

3. Cliquez sur Setting pour régler les paramétres audio et vidéo.
Pour plus d’informations, veuillez consulter le manuel utilisateur de Room Management.

Information
CAMS570

(@)

& 192168199 &

Setting

Francais-42


https://www.aver.com/download-center

Contenidos del paquete

Mando a Adaptador de corriente y
Unidad de Camara distancia/ Enchufe de Ti (S%b;eTLiJSo?:.(% m)
Pilas AAA** alimentacion* P P

LA

M4 x8mm (x2)

TF

1/4”-20 L=7,5mm
(x2)

* El enchufe de alimentacién puede variar segun los estandares de enchufes eléctricos del pais de
venta.
** | as baterias AAA solo se proporcionan para EE. UU.

Accesorios opcionales

Cable USB 2.0 Tipo-B a Cable mini-DIN8 a Soporte de TV Cable extensor USB
Tipo-A (5 m) D-Sub9 plegable 3.110m/20m/30m

*Los accesorios opcionales variaran segun el pais donde se vendan.
**Esta es una cadmara de doble lente y no admite la instalacién invertida. Para montarla en el techo,
adquiera el soporte para montaje en el techo de AVer.

Espafiol-43



Vista general

1
2 3 4 2 5 6 78 9101
1 Lente de zoom 6éptico 7 Puerto de entrada de audio
2 IR Sensor 8 Puerto HDM] ***
3 LED de estado 9 Puerto USB 3.1 Tipo B
4 Lente IA* 10 Puert de entrada/salida RS232
5 Conjunto de micréfonos incorporado*** 11  DC 12V Power Jack
6 Puerto PoE ** 12 Bloqueo Kensington
* Lente 1A:

Los usuarios pueden ver la imagen de vista previa de la lente IA en Room Management, la pagina web
IP o la salida HDMI para verificar la ubicacion de instalacion de la camara.

La lente |A detecta a los participantes dentro de su campo de vision de 95 grados para activar la lente
de zoom o6ptico con el fin de seguir a las personas en la sala. No coloque la cdmara sobre una mesa,
porque bloquearia la vista de la lente IA. La altura de instalacién sugerida es de al menos 1,5 m.

** Fuente de alimentacion sobre Ethernet (PoE), compatible con IEEE 802.3AT/802.3AF. Por favor, use
el cable CAT 5e FTP (no incluido.)

*** | a transmision de salida HDMI admite la funcién de imagen en imagen (PIP). Para obtener mas
informacion, consulte el manual del usuario.

HDMI Screen Layout

Lens 1

*** E| conjunto de micréfonos incorporado esta especialmente disefiado para el seguimiento de audio
y no se puede utilizar como entrada de audio para videoconferencias.

Espafiol-44



Indicador led
Azul fijo: encendido
Rojo fijo: iniciando

Naranja fijo: solo esta conectado el cable de alimentacion

Azul fijo: video activado
Blanco fijo: el cable USB esta conectado, pero la cAmara no esta transmitiendo
Parpadeo naranja: actualizacién manual de FW

Control de gestos
La luz azul parpadea durante 2 segundos: activacion de la funcién de control de

gestos por medio de cualquier comando de gestos valido.

La luz azul parpadea durante 4 segundos: la cAmara reconoce un commando de
gestos valido e inicia la accion.

[Nota]: El control de gestos esta desactivado de forma predeterminada. Puede
activarlo en la Room Management o la pagina web IP. La distancia efectiva es de hasta
5 metros de distancia de la camara.

Instalacion

1. Conecte la camara al enchufe de la fuente de
alimentacion.

2. Conecte los cables necesarios.

[Notas]

B Asegure los cables USB y RS232 con los tornillos
correspondientes.

B Asegurese que el cable esté bien conectado al
conector de la camara antes de fijar el cable.

Espafiol-45



3. Conecte la camara al ordenador/portétil.

[Notas]

B Use el cable USB 3.0 incluido en el paquete.

B CAM570 tiene el puerto USB 3.1 que es
compatible con USB 2.0.

La resolucién maximo/fps para el puerto USB 2.0 y e
USB 3.1 se muestran a continuacion.
Cable USB
USB 2.0 USB 3.1 HDMI

YUV M-JPEG YUV M-JPEG
- Resolucién de - 1080p/60fps - Hasta1080p/30fps - Hasta 4k/30fps 1080p/60fps

640x480 o inferior,

hasta 30fps - 720p/60fps - 1080p/60fps 1080p/30fps
- 720p, hasta 10fps

4. Lalente de IA se utiliza para detectar
participantes dentro de su campo de vision de
95 grados para activar la lente de zoom 6ptico
para rastrear a las personas en la habitacion. No
cologue la camara sobre la mesa porque la vista
de la lente de IA se bloqueara. La altura de
instalacion sugerida es de al menos 1,5 m.

5. Conecte el cable Ethernet para el streaming
IP y el control de camara de forma remota.

[Notas]
W Para asegurarla estabilidad del streaming de video
IP, por favor use el cable CAT 5e FTP.

6. Conecte un cable HDMI a un monitor de TV
para tener video en vivo al instante.
[Notas]
B E| puerto HDMI solo admite la resolucion 1080p.
B Si selecciona RTSP/RTM con resolucién de hasta
4K, se desactivara la transmision de salida HDMI.

Espafiol-46

Monitor/TV

=

onitor/TV

|




Mando a distancia

—
Ssleccionar Camara | i

Control direccional 5~ Entrar
_delacamara | ,,@@
_Menu0sD [ = Silenciar/
— No silenciar”
SmartFrame -~~~ o) @ (oo 2

""""""" - < | Subirf
AcercarfAlsjar Zoom Bajar volumen*
777777777777777777 * «| | Tecla Acceso
Directo a Preconfig
Posicién

Preconfig

Pilas AAA (requeridas)
* No es compatible con CAM570

B Preconfig. (): El bot6n preconfig. en el

mando a distancia tiene 2 funciones.

Para guardar un preconfig. - Mueva la
camara a la posicion deseada. Mantenga
pulsado el botén preconfig. hasta que reciba el
mensaje de guardado en la pantalla.
Seleccione el botén 0 - 9 de posicion de
preconfig. para guardar la posicion actual de la
camara. Repita los pasos si fuese necesario.
Para cargar una preconfig. - Pulse el botén
Preconfig. y seleccione el botén 0 - 9 de
posicién preconfig. para cargar una posicion
guardada de la cAmara. Repita los pasos si
fuese necesario.

B Mantenga pulsado el botén de nimero

” durante 1 segundo para activar o

desactivar la funcion WDR.

[Nota] Se recomienda utilizar la funcion WDR
en entornos con un fondo de alto contraste
para mejorar el area oscura. La velocidad de
fotogramas descender& a 30 fps 0 menos. Si
las condiciones de luz son normales, esta
funcién provocara que la imagen sea borrosa.

B Mantenga pulsado el botén de nimero
“ 5 " durante 1 segundo para activar o

desactivar la funcién SmartFrame.

B Mantenga pulsado el botén de nimero

* " durante 1 segundo para activar o
desactivar la funcién Streaming RTMP.
Mantenga presionado el botén numérico

“ @ " durante 1 segundo para forzar a la
camara a ingresar al modo de suspension.
Cortara toda la transmision de video. Para
despertarlo, presione el boton durante 1
segundo nuevamente o presione el botén de
direccién. No funciona mientras la transmision
USB esta activada.

Seleccionar Camara ((7)(z)()): Un mando
a distancia puede controlar hasta tres camaras
AVer USB. Para vincular camaras, utilice la
Room Management o accede a la pagina web
IP. Si no realiza ningln ajuste de vinculacion,
no importa el nimero que pulse, podra
controlar todas

las cAmaras USB de AVer a su alrededor.
SmartFrame (): Pulse este botén durante
1~2 segundos para cambiar a la funcién
SmartFrame entre los modos Manual
Framing/Auto Framing/Preset
Framing/Seguimiento de audio/Presentacion.
de video. Se mostrard un mensaje en la
pantalla (Vea la imagen a continuacién, solo
cuando use la funcién de salida HDMI) para
indicar el modo.

Manual Frame

Preset Framing ll Audio Tracking

[Nota] SmartFrame despliega la tecnologia de
deteccion de cara y cuerpo. Las personas que
lleven mascarillas o perfiles faciales laterales
también podran ser reconocidas. La distancia
maxima de deteccion es de 7 a 10 metros de
distancia de la camara.

Configure los puntos predeterminados de
antemano (solo para los puntos
predeterminados O - 9. El valor predeterminado
0 es para la posicion inicial).

Espafiol-47



Instalacion de montaje en pared
1. Use el papel de taladrado incluido en el paquete para taladrar los orificios en la pared donde el
usuario desea montar la camara.

2. Use los tornillos (no incluidos) para asegurar el soporte de montaje en L en la pared.
[Nota] Para pared de cemento: M4 x 4 tornillos autorroscantes de 20 mm + taco conico de
plastico
Para pared de madera: M4 x 4 tornillos autorroscantes de 20 mm

3. Acontinuacion, instale los soportes E + E de montaje en L con 2 tornillos (M4 x 8 mm,
incluidos en el paquete).
4. Después de instalar los soportes de montaje en L, use los tornillos (no incluidos) para asegurar la
parte inferior de los soportes de montaje en L en la pared.
[Nota] Para pared de cemento: M4 x 2 tornillos autorroscantes de 20 mm + taco conico de
plastico
Para pared de madera: M4 x 2 tornillos autorroscantes de 20 mm
5. Pase los cables a través del orificios de los soportes de montaje en L y conecte los cables con los
puertos de conexion correspondientes.
6. Use los tornillos restantes (1/4” - 20 L = 7,5 mm, incluidos en el paquete) para asegurar la camara
en los soportes de montaje en L.

Espafiol-48



Realizar una videollamada

Se requiere un ordenador para utilizar este dispositivo.

1. Abrala aplicacién de colaboracién de video, como Zoom, Microsoft® Teams, Skype for Business,
Skype, Google Meet, Intel® Unite™, RingCentral, BlueJeans, V-Cube, LiveOn, CyberLink U
Meeting®, TrueConf, Adobe Connect, Cisco WebEX®, Fuze, GoToMeeting™, Microsoft® Lync™,
Vidyo, vMix, WebRTC, Wirecast o XSplit.

2. Configure la CAM570 como su dispositivo primario de cAmara en su aplicacién (consulte la guia
de instalacién de la aplicacién para obtener mas detalles).

3. Preparado para realizar una videollamada.

[Nota] CAM570 es una camara de conferencia de conectar y usar. El sistema no requiere de

controladores especiales. Para acceder a la configuracién avanzada y la actualizacion del firmware,

por favor descarguese Room Management.

Configurar ajustes en Room Management
1. Descargue e instale Room Management (anteriormente PTZApp 2) en su computadora desde
AVer Download Center (https://www.aver.com/download-center) y luego inicie el software.

Nota:
e Asegurese de que su dispositivo esté conectado a Internet.
e Room Management y el dispositivo deben estar en la misma LAN.

2. Conecte su dispositivo a la computadora con el cable USB incluido. Su dispositivo deberia
aparecer en la pagina Device Control.

3. Haga clic en Setting para ajustar la configuracion de audio y video.
Para mas informacion, consulte el manual de usuario de Room Management.

Information

CAMS570

()

& 192168199 &

Setting

Espafiol-49


https://www.aver.com/download-center

Pycckuii

KomMmnnekr nocraBkm
Apantep
NynsT AY / MUTaHUA U Kab6enb USB 3.0

Rk e Bartapeikn AAA** AnekTpuyeckas Type-B - Type-A (3 m)

MepexoaHon kabenb Ka6enb HDMI KOMMJEKT HAaCTEHHOro MOHTAKHBLIE BUHTEI
RS232 «Mini DIN 9 - DIN 8» (B m) MOHTaxa

| VY
Q] M4 x 8 MM (2 w.)

1/4 goima - 20 L =
7,5MM (2 wt.)

* SneK'rpmquKaﬂ BUIIKa MOXET OTNIN4aTbCA B 3aBUCUMOCTU OT CTaHAAPTHbIX PO3ETOK B CTpaHe
npogaxmu.

** batapeikn AAA npegHasHayveHbl Tonbko Ans CLUA.

HOHOHHVITeﬂbeIe nMpUMHaaNe>XxXHoCTUu
Ka6enb USB 2.0 Ka6enb Mini DIN8 / CknagHoe Yonuuutenb USB 3.1
Type-B - Type-A (5 m) D-Sub9 KpenneHue ana TB (10 m /20 m/ 30 m)
,/&“’a

by,

Y

KpenneHue Ha notonok**

* [lononHUTenbHble aKceccyapbl 3aBUCAT OT CTpaHbl NpoAaXun.
** OTa Kamepa ¢ AByMA o6bekTMBaMu 1 He nogaepXmBaeT MOHTaX B NepeBepPHYTOM NOJTIOKEHUN. Onsa
MOHTa)a Ha NoTosike npmoﬁpeTMTe NOTOMOYHOE KpenrneHne B KomnaHum Aver.

Pycckun -50



OCHOBHbIE 3N1eMEeHTbI

1  OGbeKTUB C ONTUYECKUM 3YMOM 7 MopT ayavosxoaa

2 IR Sensor 8 MopT HDM| ***

3 WHawmkatop cocTosHus 9 MopT USB 3.1 (Tvna B)

4  O6bekTMB Al * 10 Tlopt BBOAA/BbIBOAA RS232
5  BcTpoeHHbIn maccuB MukpodoHos**** 11 DC 12V Power Jack

6 MopT PoE ** 12 3amok Kensington

* O6bekTmB Al
Monb3oBaTenu MoryT BUAETb U3obpaxeHne NnpeasapuTensHOro npocmoTpa obbekTuea Al B
npunoxexHun Room Management, Ha Beb-cTpaHuue IP unu Ha Bbixoge HDMI, 4yTobbl npoBepuTb

MECTO YCTaHOBKM Kamepbl.
O6bekTnB Al No3BONSIET 06HAPYXUTb YH4aCTHMKOB BCTpeYn B nNpeaenax yrna ob3opa 95° n
aKTMBUPOBATb OMTUYECKMIA 3yM-00bLEKTUB A1 OTCNEXUBAHNA Moden, NpUCyTCTBYOLWMX B 3ane. He
CTaBbTe Kamepy Ha CTor, Tak Kak n3obpaxeHne ¢ obbekTnea Al OyaeT 3abnoknpoBaHo.
PekomeHyemasi BbICOTa YyCTaHOBKU COCTaBNSET He MeHee 1,5 M.

** Power over Ethernet plus (PoE +), coBmectumbliii ¢ IEEE 802.3AT / 802.3AF. Vcnonbk3yiTe kabenb
FTP CAT 5e (He BXoOQWUT B KOMMIEKT).

*** [oTokoBOE BOoCnpousBeaeHue Yyepes Bbixog HDMI nogaepxusaeT dyHKUMIO "kKapTuHKa B
kapTuHke" (PIP). Bonee nogpobHoe onvcaHve npueeaeHo B pyKOBOACTBE MoMnb3oBaTens.

HDMI Screen Layout

Lens 1

**** MaccuB BCTPOEHHbIX MUKPOOHOB crielmarnbHO pa3paboTtaH Ars ayauoTPeKMHra U He MOXeT
MCMonb30BaTbCs B Ka4YeCcTBe ayavoBXoAa ANS BUAEOKOH(EPEHLIMWIA.

Pycckun -51



XK mHpgukarop

FopuT cuHuM: MNutaHne BKNOYEHO

FopuT KpacHbIM: 3arpyska cuctembl

FopuT opaHxeBbIM: [oakI04YEeH TOMNbKO kKabenb NuTaHus

Foput cuHnum: Bupeo

Foput 6enbiM: USB-kabernb nogknioyeH, Ho kaMmepa He BedeT NOTOKOBOW Nepeaayu.
MwuraeT opaHxeBbIM LiBETOM: 06HOBMTE MUKPONPOrpammy BpyYHYHO.

YnpaBneHue xectamu

CWHMI MHAMKaTOP MUraeT B TeYeHue 2 ceKyHA: PyHKUMS ynpaBneHus xectamm
YCMEeLLHO BKIOYeHa npy NnoMoLum niobomn AenCTBYOLLEN KOMaHAbl XXECTOB

CuHMI nHAnKaTop Muraet B TeueHue 4 cekyHA: Kamepa pacnosHaet 4eNCTByOLLYO
KOMaHAy XeCTOB M Ha4YMHaeT AeNCTBOBaTb.

[Mpumeyanme] Mo ymonyaHuio ynpasneHne xectammn OTKIYeHo. BkrounTe ero ¢
nomouypto Room Management unm Beb-ctpanuupl no |IP-coeamHennio. dddekTneHoe
paccTosiHMe COCTaBMNSAET 40 5 METPOB OT Kamepsbl.

YcTtaHoOBKa

1.

2.
[Mpumeyanus]
W 3akpenuTe kabenu USB n RS232 BCTpoeHHbIMU

B [lepep 3akpenneHnem kabensi ydeguTech B

MopcoennHute KamMmepy K 3rfIeKTpopo3eTKe.

MogknounTe Heob6XxoanMbIe Kabenu.

BUHTaMW.

HafeXHOCTU noAcoeAnHeHus kabensi k pasbemy
Kamepebl.

Pycckun -52



3. TloakntounTte Kamepy K
KOMMblOTEPY/HOYTOYKY.

[MpumeyaHus]

B Vicnonb3yiTe kabenb USB 3.0, Bxoasawwmn B
KOMMIEKT NOCTaBKw.

B Kamepa CAM570 nmeert nopt USB 3.1, -
coBmMecTUMBbIN ¢ USB 2.0.
Hwxe npuBegeHbl Makc. paspeLLeHne 1 CKopocTb
nepegayn kagpos anga noptos USB2.0 n USB3.1.

Ka6enk UUSB

USB 2.0 USB 3.1 HDMI

YUV M-JPEG YUV M-JPEG

- 640x480 nnu - 1080p/60fps - [o 1080p/30 kap/c - [o 4k/30 kgp/c 1080p/60fps

meHee, o 30 kap/c.
- 720p/60fps - 1080p/60fps 1080p/30fps
- 720p, po 10 kap/c

4. O6bekTuB Al ncrnonb3yetca aAns obHapyxeHus
Y4YacTHMKOB B npegenax ero nonsi o6sopa 95
rpagycoB, YTOObl aKTVBMPOBaTb OOBLEKTUB C

ONTMYECKUM 3YMOM A1 OTCNEXUBAHUSA Noaen B
KOMHaTe. He knagute kamepy Ha CTOs, MOTOMY MoHUTOp/TE
410 0630p 06BLEKTUBA Al ByaeT 3abNOKNMPOBaH.
PekomeHayemas BbICOTa YCTaHOBKM - HE MeHee
1,5 M.

5. TopkntounTe Kabenb RJI45 ona
IP-TpaHCcnALMM N AUCTAHLUOHHOIO

ﬁ

ynpaBreHusi KaMmepow.
[MpuMmeyanus]
B Y106bI 06ecneuuntb cTabunbHoCTb |P-TpaHcnauum

BWAEO ucnonb3yvite kabenb FTP kateropun 5e.
6. [MMopknounTte kabenb HDMI Kk TeneBusopy, e ——

[_]

MonuTop/TB

KommyTaTtop / kommyTtatop PoE

4yTOObLI MONYYNTL BUAEeOnN306paxeHne B
KaGenb Ethernet

peXume peanbHOro BpeMeHM. (He npunaraetcs)
[MpumeyaHus]

Kabenb HDMI

H [NopT HDMI nogaepXunBaeT TONbKO paspeLueHne
1080p.

H [Tpu BbIGope paspeleHns RTSP/RTMP go 4k
noTtokosas nepepada yepes HDMI 6yaet
OTKNo4eHa.

Pycckun -53



MynsT AY

. BuiSop kamepai | o5

AxoRCTIK Beog_

yNpasneHus kamepon ‘@CQ%)
S Brikn./

o) () (T)e] BT 389K

BrICTPLIA BEI3CE
YCTaBOK

) [(mle- I
OEE
aEin)
@G
)| e - LA
) [ TR
Aver

N

W ﬂ. Mpomue/Tuwe™

Bartapen AAA (TpebytoTcst)
* He nopaepxwuBaetca ans CAM570

: KHonka Preset (YcTaBka) Ha

NynsTe BbINOSHAET 2 PYHKLMN.

CoxpaHeHue ycTaBKM - NepemMecTuTe Kamepy B
Hy>kHoe nonoxenwue. MpyxmnTte KHoMKy Preset

(YcTaBka) 4o NosiBNEHUst Ha 3KkpaHe 3anpoca Ha
coxpaHeHue ycTaBku. Beibepute Homep ycTaBku

0 - 9 Ana coxpaHeHWs TEKYLLLero nonoxeHus

kamepel. Ecnin TpebyeTcs, NoBTOpUTE yKasaHHyto

npoueaypy.
3arpyska ycTaBKM - NpumxmmTe KHOMKy Preset
(YcTaBka) n kHonky Homepa yctasku O - 9 ans

3arpy3ku COXpaHeHHOro nonoXxeHna Kkamepbl.

Ecnu TpebyeTcs, NoBTOpUTE YKa3aHHyo npoLeayp)

MpuXMUTE KHOMKY C HOMEPOM « » Ha 1
CEKYHAY, YTOObI BKITOYUTb UMW BLIKIHOYNTD

dyHkumnio WDR.

[Mpumevanue] PyHkumio WDR pekomeHnayeTcs

ncnonb3oBaTtb ANA ynydlweHua I/I306pa)KeHI/I9I

TeMHOI 06nacTu Npu BbLICOKOKOHTPACTHOM (hOHe.

Mpw aTom YacToTa kagpos ynaget ao 30
Kappos/c unu Hwke. Ecnu ceeToBble ycnosust
HopMarbHbIe, BKIOYeHNe 3Ton DyHKLUK
MPUBOAVT K 3aTEMHEHMIO M30GPEKEHMS.

MpwXmnTE KHOMKY C HOMEPOM « 5 » Ha 1
CeKyHAYy, 4TOGbl BKITOUYMUTL UMW BbIKMIOYNTL

yHKumto SmartFrame.

Pycckun -54

MpwxmnTE KHOMKY C HOMEPOM «» Ha 1
ceKyHay, YTOObl BKIMHOYNTb UMW BbIKIMHOUYNUTE
yHKUMIO TpaHcnsaumm notoka RTMP.
HaxmuTe v yaepxmsante umndposyro
KHOMKY «@» B TeyeHue 1 cekyHabl, YTOObI
Kamepa nepeLuna B Cnawmin pexumm. 3to
OTKIMIOYMT BCE NOTOKOBOE BMAEO. YToGbI
pa3byanTb ero, CHOBa HaXXMUTE KHOMKY Ha 1
CeKyHAY VINv HaXMUTE KHOMKY
HanpasrneHus. 3To He paboTaer, noka
BK/lOYeHa MoTokoBast Nepeaadya no USB.
Bbi6op kamepbl (@@ ): OpHuM
NynsTOM AUCTaHLUMOHHOIO ynpaeneHus
MOXHO YNpaBnsTb A0 TPex
KoHdepeHu-kamep AVer. [ins npuBs3ku
Kamep ncnonb3ynte npunoxeHve Room
Management unu nepengute Ha
Be6-CTpaHnLy kamepsbl Mo |P-coeguHeHwmio
AN BbINONHEeHWs HacTponku.\n\nEcnu Bbl
He BbINOMHUTE HACTPOWKM NPUBA3KM, TO
HEe3aBUCUMO OT TOTO, Kakyto Lndpy Bbl
HaXmeTe, Bbl CMOXETE YNpaBnsiTe BCEMU
USB-kamepamu Aver psagom ¢ Bamu.
SmartFrame (): Haxmute n
yaepxwvisanTe B TedeHne 1-2 cekyHn,
4TOBbI NEPEKMIOYNTL (DYHKLNIO
SmartFrame Ha pexumbl PyyHoe
kagpvipoBaHue/AsTokagpupoBaHue/lpeas
apuTenbHoe KagpupoBaHue/
ayAanoTpekvHra/npeseHTaumn. Ha
3KpaHenosBMTCA CoobLLeHNe O BbIGpaHHOM
pexume (CM. pUCYHOK HUXKe, TONbKO Npur
NCnonb3oBaHUM yHKLUMK Bbixoaa HDMI).
Manual Frame J| Auto Frame

o Tracking

[Mpumeuanne] PyHkuns SmartFrame
MCMOIb3yeT anropuTMbl pacnosHaBaHus
nuua u Tena. Takke obecne4ynBaetcs
pacno3HaBaHue noaen B mackax n 6okoBoro
npodunsa nuu. MakcumarnbsHas AansbHOCTb
MakcrmanbsHoe paccTosiHie obHapyXeHus
coctasnsiet 7-10 MeTpoB OT kamepbl
npeaycTaHOBMEHHbIE TOYKM (TOMbBKO ANs
npeaycTaHoBMEHHbIX ToYek 1 - 9.
MpepnyctaHoBka 0 npegHasHaveHa Ans
MNCXOQHOrO MOMOXeHWS).



HacTeHHbIX MOHTaX

1. C nomousto npunaraemoro ceeprniibHOro LwabnoHa npoceBepnuTe B CTEHE KpenexXHble OTBepCTUA
B MeCTe KpensieHna Kamepebl.

2. C nomoLLblo BUHTOB (He npunaratoTcsl) NpUKpenuTe K cteHe M-06pasHblil KPOHLLTERH .
[Mpumeyanne] [Ons uemeHTHoN cTeHbl: CamoHapesHble BUHTbI M4 x 20 mm (4 wT.) +
NnacTUKoBbIe KOHUYECKME AtoGenm
[Onsa pnepessHHOM cTeHbl: CamoHapesHble BUHTHI M4 x 20 mm (4 wT.)

3. 3arem ckpenute [-06pa3Hble KPOHLUTENHbI E + E AByMs BUHTaMu (M4 x 8 mm, BXogsT B
KOMMIEKT NOCTaBKw).
4. Tlocne cbopku M-06pasHbIX KPOHLLTENHOB, MPUKPENUTE HXHWI [M-06pasHbIN KPOHLITEWH K CTEHE C
MOMOLLIbIO BUHTOB (He npunaratoTcs).
[Mpumeyvanune] Ansa uemeHTHON cTeHbl: CamoHapesHble BUHTbI M4 x 20 mm (2 wT.) +
nnacTyKoBble KOHMYeckne Arbenn
[nsa pgepessaHHOM cTeHbl: CamoHapesHble BUHTHI M4 x 20 Mm (2 wrT.)
5. Tponyctute kabenu yepes oTBepcTUE B [-0Opa3HOM KPOHLUTENHE 1 NMOAKIOUNTE UX K
COOTBETCTBYIOLLMM pasbemaM Kamepsbl.
6. C nomolbto ocTaBLUnXcst BUHTOB (1/4 grovima - 20 L = 7,5 MM, 13 KOMNneKkTa nocTaBkn) 3akpenuTe
kamepy Ha -06pasHbIX KPOHLUTENHAX.

Pycckun -55



MpoBepeHMne BuaeokoHdgepeHUUM
,D,J'IH MCcnonb3oBaHUA 3Toro yCTpOVICTBa Tpe6yeTc;| KOMMNbHOTEP.

1.

3.

OTKpoWiTe NPUNOXEHVe AN NPOBeAeHVs BUAEOKOHMEepeHUWit, Hanpumep Zoom, Microsoft®
Teams, Skype for Business, Skype, Google Meet, Intel® Unite™, RingCentral, BlueJeans, V-Cube,
LiveOn, CyberLink U Meeting®, TrueConf, Adobe Connect, Cisco WebEx®, Fuze, GoToMeeting™,
Microsoft® Lync™, Vidyo, vMix, WebRTC, Wirecast, XSplit.

YcraHoBute CAM570 B Ka4eCcTBe OCHOBHOW KaMmepbl B BalLeM NPUIIOKEHUW. (CM. pyKOBOACTBO MO
HaCTPOWKe MPUINOXEHUS).

MoaroToBbTECH K NPOBEAEHUIO BUAEOKOHMEPEHLMMN.

[MpumeyaHue] Kamepa CAM570 - camoHacTpavBaeMasi KOHdepeHL-kamepa. [ns paboTbl cuctemMs!
He TpebyloTcs cneunanbHble agpansepbl. [ns pacluMpeHHON HAaCTPOMKN NapaMmeTpoB U OGHOBNEHUS]
MUKpOMporpaMmmMbl HeobxoaMmo ckavaTb npunoxeHne Room Management.

HacTtpounka napamerpos B Room Management

1.

3arpysute u yctaHosute Room Management (paHee PTZApp 2) Ha cBoi komnbtoTep ¢ AVer
Download Center (https://www.aver.com/download-center), 3atem 3anycTute nporpaMmmy.

MpumeyaHue:
e YbegwuTech, YTO BaLLe YCTPONCTBO MOAKMHOYEHO K UHTEPHETY.
e Room Management n ycTpoicTBO JOMKHbI HAXOAUTLCS B O4HOM U Ton e LAN.

MoakntoynTe YCTPOWCTBO K KOMMBIOTEPY C MOMOLLbo Npunaraemoro USB-kabens. Bawe
YCTPOMCTBO AOMKHO 0TOBOpa3nTbesa Ha cTpaHuue Device Control.

HaxmuTe Setting, 4To6bl HACTPOUTL NapameTpbl ayAno U BUAEO.
[nA nonyyeHust AONONHWUTENbLHOW MHdOPMaLMK obpaTUTech Kk PykoBOACTBY nonb3osartens Room
Management.

Information

CAMS570

©

& 1921681.99 &

Setting

Pycckun -56


https://www.aver.com/download-center

Indonesia

Isi Paket

Remote Control / Adaptor Daya & Kabel USB 3.0 Tipe-B
Unit Kamera e
Baterai AAA Colokan listrik* ke Tipe-A (3m)

5D g
Kabel Adaptor Mini DIN9 Kabel HDMI (3 Kit Pemasangan Sekrup untuk
ke Mini DIN8 RS232 8e S di Dinding Dudukan

LA

M4 x8mm (x2)

TF

1/4" -20 L=7.5mm (x2)

* Colokan listrik dapat berbeda tergantung pada standar stopkontak listrik di negara penjualan..
** Baterai AAA hanya tersedia untuk AS.

Aksesori Opsional
Kabel USB 2.0 Tipe-B Kabel Mini DIN8 ke Dudukan TV yang Ekstensi USB 3.1
ke Tipe-A (5m) D-Sub9 dapat dilipat 10m/20m/30m

| ) l——

* Aksesori opsional akan berbeda-beda, tergantung pada negara tempat penjualannya.
** |ni adalah kamera lensa ganda dan tidak mendukung pemasangan terbalik. Untuk memasang di
plafon, silakan beli perlengkapan pemasangan plafon dari AVer.

Indonesian-57



Ringkasan

2 3 4 2 5 6 78 91011
1 Lensa Zoom Optik 7 Port Input Audio
2 Sensor IR 8 Port HDMI***
3 LED Status 9 Port USB 3.1 Tipe B
4 LensaAl* 10 Port Masuk/Keluar RS232
5 Rangkaian Mikrofon Internal**** 11  Soket Daya DC 12V
6 Port PoE** 12 Kunci Kensington

* Lensa Al:
Pengguna dapat melihat gambar pratinjau lensa Al di Room Management, halaman web IP, atau
HDMI out untuk memeriksa lokasi pemasangan kamera.

Lensa Al digunakan untuk mendeteksi peserta dalam bidang pandang 95 derajat guna memicu lensa
zoom optik untuk melacak orang-orang di dalam ruangan. Jangan meletakkan kamera di atas meja
karena pandangan lensa Al akan terhalang. Tinggi pemasangan yang disarankan minimal 1,5 m.

** Power over Ethernet (PoE) kompatibel dengan IEEE 802.3AT/802.3AF. Harap gunakan kabel FTP
CAT 5e (tidak disertakan.)

*** Streaming HDMI out mendukung fungsi gambar dalam gambar (PIP). Untuk detail selengkapnya,
silakan lihat buku petunjuk pengguna.

HDMI Screen Layout

Lens 1

*++x Rangkaian mikrofon internal dirancang untuk deteksi Pelacakan Audio, yang tidak dapat
digunakan sebagai sumber input audio untuk konferensi video.

Indonesia -58



Indikator LED

Biru pekat: Daya hidup

Merah pekat: Menyala

Oranye pekat: Hanya kabel daya yang tersambung

Biru pekat: Video menyala

Putih pekat: Kabel USB tersambung tetapi kamera tidak memiliki streaming keluar
Jingga berkedip: Perbarui FW secara manual

Kontrol gerakan

Lampu biru berkedip selama 2 detik: Berhasil mengaktifkan fungsi kontrol gerakan
dengan perintah gerakan yang valid

Lampu biru berkedip selama 4 detik: Kamera mengenali perintah gerakan yang valid
dan mulai bertindak.

[Catatan] Kontrol gerakan default adalah mati. Harap aktifkan melalui Room
Management atau halaman web IP. Jarak efektif hingga 5 meter dari kamera.

Instalasi

1. Hubungkan kamera ke stopkontak.

2. Hubungkan kabel yang diperlukan.

[Catatan]

B Amankan kabel USB dan RS-232 dengan
sekrup yang terpasang.

B Pastikan kabel tersambung dengan baik ke
konektor pada kamera sebelum
mengamankan kabel.

Indonesia -59



3.

Hubungkan kamera ke komputer/laptop.

[Catatan]

B Gunakan kabel USB 3.0 yang disertakan
dalam paket.

B CAM570 memiliki port USB 3.1 yang

kompatibel dengan USB 2.0. S\
Resolusi/fps maksimum untuk port USB 2.0
dan USB 3.1 ditunjukkan di bawabh ini.
USB cable
USB 2.0 USB 3.1 HDMI
YUV M-JPEG YUV M-JPEG
- Resolusi 640x480 - 1080p/60fps - Hingga - Hingga - 1080p/60fps
atau kurang, hingga 1080p/30fps 4k/30fps
30fps - 1080p/30fps
- 720p/60fps - 1080p/60fps
- 720p, hingga 10fps

Lensa Al digunakan untuk mendeteksi peserta
dalam bidang pandang 95 derajat guna memicu
lensa zoom optik untuk melacak orang-orang di
dalam ruangan. Jangan meletakkan kamera di
atas meja karena pandangan lensa Al akan
terhalang. Tinggi pemasangan yang disarankan
minimal 1,5 m.

Hubungkan kabel Ethernet untuk streaming
IP dan kontrol kamera jarak jauh.
[Catatan]
B Untuk memastikan stabilitas streaming
video IP, gunakan kabel FTP CAT 5e.

Hubungkan kabel HDMI ke monitor TV untuk
menyaksikan video langsung secara instan.
[Catatan]
B Port HDMI hanya mendukung resolusi
1080p.
B Jika Anda memilih resolusi RTSP/RTMP
hingga resolusi 4k, streaming HDMI out
akan dinonaktifkan.

Indonesia -60

Monitor/TV

1.5M

Monitor/TV



Remote Control
Y

Camera Select | oo B Tekan dan tahan tombol angka
________________ 0 | Enter selama 1 detik untuk mengaktifkan atau
Camera Directional /A R - ) 9 )
Controd | _@@ . menonaktifkan fungsi streaming RTMP.
OSD Menu | 7 B Tekan dan tahan tombol angka @
SmariFrame - -- {=(3) (3] (1)e| - MMte/Un-mute’ selama 1 detik untuk memaksa kamera
Zoom InfOut | | * o dume Up/Down’ masuk.ke mpde tidur. Ini akan mengakhiri
”””””””” *a P o streaming video apa pun. Untuk
Presei.@ @.__E‘(?§§_H?!!(_?!_ mengaktifkan kamera, tekan tombol atau

tombol arah apa pun selama 1 detik. Mode
ini tidak berfungsi saat sﬂs&ming USB aktif.

B Pemilihan Kamera (@k@j@): Satu
remote control dapat mengendalikan hingga
tiga kamera USB AVer. Untuk mengikat
kamera, gunakan Room Management atau
akses halaman web IP untuk mengaturnya.
Jika Anda tidak melakukan pengaturan
pengikatan apa pun, berapa pun angka
yang Anda tekan, Anda dapat

Baterai AAA (diperlukan)
*Tidak didukung untuk CAM570

B Preset (): Tombol Preset pada remote
memiliki 2 fungsi.

Untuk Menyimpan Preset - Pindahkan
kamera ke posisi yang diinginkan. Tekan
dan tahan tombol preset hingga Anda
menerima pesan simpan di layar. Pilih
tombol posisi preset 0-9 untuk menyimpan
posisi kamera saat ini. Ulangi langkah jika
perlu.

Untuk Memuat Preset - Tekan tombol
preset dan tombol posisi preset 0-9 untuk
memuat posisi kamera yang disimpan.
Ulangi langkabh jika perlu.

Tekan dan tahan tombol angka @
selama 1 detik untuk mengaktifkan atau
menonaktifkan fungsi WDR.

[Catatan] Fungsi WDR disarankan untuk
digunakan di lingkungan latar belakang
kontras tinggi untuk meningkatkan area
gelap. Kecepatan bingkai akan turun
menjadi 30fps atau lebih rendah. Jika
kondisi cahaya normal, fungsi ini akan
menyebabkan gambar kabur.

Tekan dan tahan tombol angka @
selama 1 detik untuk mengaktifkan atau
menonaktifkan fungsi SmartFrame.

mengendalikan semua kamera USB AVer di
sekitar Anda.

SmartFrame (): Tekan selama 1~2
detik untuk mengalihkan fungsi SmartFrame
di antara mode Manual Frame/Auto
Frame/Preset Framing/Audio
Tracking/Presentation. Pesan (seperti yang
ditunjukkan pada gambar) akan ditampilkan
di layar untuk menunjukkan mode saat
menggunakan fungsi HDMI out.

Manual Frame [ Auto Frame

Audio Tracking

[Catatan] SmartFrame menggunakan
teknologi deteksi wajah dan tubuh. Orang
yang memakai masker dan profil wajah
samping masih dapat dideteksi. Jarak
deteksi maksimum adalah 7-10 meter dari
kamera.

Siapkan titik preset terlebih dahulu (Hanya
untuk titik Preset 1-9. Preset 0 untuk posisi
awal).

Indonesia -61



1.

Pemasangan di Dinding

Gunakan kertas bor yang disertakan dalam kemasan untuk mengebor lubang di dinding tempat

pengguna ingin memasang kamera.

Gunakan sekrup (tidak disertakan) untuk mengencangkan braket dudukan L [ di dinding.

[Catatan] Untuk dinding semen: sekrup self-tapping M4 x20mm (x4) + jangkar kerucut plastic
Untuk dinding kayu: sekrup self-tapping M4 x20mm (x4)

Kemudian, rakit braket dudukan L Ii + dengan 2 sekrup (M4 x8mm, disertakan dalam

kemasan).

Setelah memasang braket dudukan L, gunakan sekrup (tidak disertakan) untuk mengencangkan

bagian bawah braket dudukan L di dinding.

[Catatan] Untuk dinding semen: sekrup self-tapping M4 x20mm (x2) + jangkar kerucut plastic
Untuk dinding kayu: sekrup self-tapping M4 x20mm (x2)

Lewatkan kabel melalui lubang pada braket dudukan L dan sambungkan kabel ke port koneksi yang

sesuai.

Gunakan sekrup yang tersisa (1/4”-20 L=7,5mm, disertakan dalam paket) untuk menahan kamera

pada braket pemasangan L.

@

11

— Yl

D

Indonesia -62



Melakukan Panggilan Video

Komputer diperlukan untuk menggunakan perangkat ini.

1. Buka aplikasi kolaborasi video seperti Zoom, Microsoft® Teams, Skype for Business, Skype,
Google Meet, Intel® Unite™, RingCentral, BlueJeans, V-Cube, LiveOn, CyberLink U Meeting®,
TrueConf, Adobe Connect, Cisco WebEx®, Fuze, GoToMeeting™, Microsoft® Lync™, Vidyo, vMix,
WebRTC, Wirecast, XSplit.

2. Tetapkan CAM570 sebagai perangkat kamera utama di aplikasi Anda (Silakan lihat panduan
pengaturan aplikasi untuk detailnya).

3. Siap melakukan panggilan video.

[Catatan] CAM570 adalah Kamera Konferensi Plug-n-Play. Sistem ini tidak memerlukan driver khusus.

Untuk pengaturan lanjutan dan pembaruan firmware, silakan unduh Room Management.

Konfigurasikan Pengaturan pada Room Management

1. Unduh dan instal Room Management (sebelumnya PTZApp 2) ke komputer Anda dari Aver
Download Center. (https://www.aver.com/download-center) dan luncurkan perangkat lunak.

Catatan:
e Pastikan perangkat Anda terhubung ke internet.
e Room Management dan perangkat harus berada di LAN yang sama.

2. Hubungkan perangkat Anda ke komputer menggunakan kabel USB yang disertakan.
Perangkat Anda akan muncul di bawah halaman Device Control.

3. Kilik Setting untuk mengontrol pengaturan audio dan video.
Untuk informasi tambahan, silakan lihat panduan pengguna Room Management.

Information
CAMS570

()

& 1921681.99 &

Setting

Indonesia -63



	English
	繁體中文
	简体中文
	日本語
	한국어
	Français
	Español
	Pусский
	Indonesia

